The group G is isomorphic to the group labelled by [ 64, 3 ] in the Small Groups library.
Ordinary character table of G = (C8 : C8) : 1

la 8a 8b 4a 4b 2a  2b 8c 8d 8e 8f 8g 8h 8i 4c 4d de 4f 4q 2¢ 8j 8k 81 8m 8n 8o 8p 8¢q 8r 4h 43 4j 4k 8s 8t 8u 8v 8w 41 8z
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 1 -1 1 1 1 1 -1 1 1 1 -1 -1 -1 1 1 1 1 1 1 —1 -1 —1 1 1 1 -1 -1 —1 1 1 1 1 -1 -1 —1 1 -1 1 -1
X3 1 -1 1 1 1 1 1 -1 —1 —1 -1 1 1 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 —1 1 1 1 1 1 1 1 —1 -1 —1 -1 1 1 -1
X4 1 -1 -1 1 1 1 1 1 —1 -1 -1 —1 -1 —1 1 1 1 1 1 1 1 1 1 -1 —1 —1 -1 -1 -1 1 1 1 1 1 1 1 -1 -1 1 1
s |11 E(4) 1 1 1 1 E@ 1 1 1 E(4) —E@4) E@) -1 1 1 - - 1 E@) —E@4) E@4) -1 1 1 —E@4) E@4) —E@) 1 -1 1 1 _E@4)  E@) —E@4) -1 —E@4) - —E(4)
e |11 —E®@& 1 1 1 1 —E@ 1 1 1 —E@4)  E@) —E@4) 1 1 1 1 1 1 —E@4) E@) —E@4) -1 1 1 E@4)  —E@A) E@4) 1 -1 1 1 E(4) —E@4) E@) -1  E@) 1 E(4)
|1 -1 E@ 1 1 1 1 —EM@ -1 1 1 E@) —E@4) E@4) 1 1 1 1 1 1 —E@)  E@) —BE4) 1 1 1 —E@) E@) —E@) 1 1 1 1 E(4) —E@4) E(4) 1 B4 1 E(4)
xs |1 -1 —E@4) 1 1 1 1 E@) -1 1 1 —E(4) E@ —E@) -1 1 1 1 1 1 E@) —E@) E(4) 1 1 1 E(4) —E(4) E@) 1 1 1 1 _E(4) E@) —E@4) 1 E(4) 1 _E(4)
xo |1 E(4) 1 1 1 1 1  E@4) -E@4) E@4) E@4) -1 1 1 -1 1 1 1 1 1 —E@4) E@) E@4) -E@4) —E@4) E@®) -1 1 1 1 1 -1 1 _E(4) -E@) E@) -—E@4) -1 1 _E(4)
x| 1 E@) -1 -1 1 1 1 —E@4) —-E@4) E@® E®@4) 1 -1 -1 -1 -1 -1 1 1 1 BE@) —E@A) -E@4) —E4) —E@4) E(4) 1 1 -1 1 -1 -1 1 E(4) E@4) -E@4) -E@ 1 1 E(4)
xul|l -BE@ 1 -1 1 1 1 -E@4) E@4) -E4) -E4) -1 1 1 -1 -1 -1 1 1 1 B(4) -E@4) -BE@4) EW@) E@) —E@4) -1 1 1 1 -1 1 1 E(4) E@) —E@4) E@) -1 1 E(4)
Xi2| 1 —B@) -1 -1 1 1 1 B4 E4 -E4 -E4) 1 ~1 -1 -1 -1 -1 1 1 1 —E@4) E@) E@) E@4) E@4) -E#4) 1 1 -1 1 -1 -1 1 _E@4) —E@) E@A)  E4) 1 1 —E(4)
xi5| 1 E@)  E®@) -1 -1 1 1 -1 -E@4) -E@4) E@4) -BEd4) -E4) B@4) 1 -1 -1 -1 -1 1 1 1 1 B@A) -E@4) -E@4) E@4) —E@) -BE@4) 1 1 -1 1 -1 1 1 E(4)  E(4) 1 1
xul| 1l BE@) -E@4) -1 -1 11 1 —E(4) —-E@) E@) E@) B@) -EA) 1 -1 -1 -1 -1 1 -1 -1 1 E(4) —EBE(4) —E@4) —-BE(4) E@) E@) 1 1 -1 1 1 1 1 EBM4) —E@) 1 1
xis| 1 —E@4)  E®@) 1 1 11 1 E(4) E@) —E@) —-E(4) -E@4) E4) 1 -1 1 1 1 1 -1 1 1 —E(4) E@) E@) EWA) —Ed4) —E@4) 1 1 1 1 1 - 1 —E@4) E@) 1 1
Xi6| 1 —E@4) —E4) -1 -1 1 1 -1 E@4 E4 -E4) E4 E@) -B@4) 1 -1 -1 -1 1 1 1 1 1 —EM4) E@®) E@) -Ed4) EWX)  EW4) 1 1 1 1 -1 1 1 —E4) -E@4) 1 1
xir| 11 E(8) 1 E@4) 1 -1 E®) 1 E@4) -1  E®) E@BP -E@8)  EA) 1 -1 E(4) —E@4) -1 E@B) E®)?® -—E@S) E@4) -1 —E@4) E®8)?® -E@S) -ES? EA) —E(4) -1 —E(4)  E@8)? -BE@8) -E@8)? —E4) —E®B)? —E@4) —E(8)?
xis| 1 1 —E(8) 1 EM4) 1 -1 —BE®) 1 EM4) -1 —E@®) -E®° E@B  E@) 1 -1 E4)  -E@) -1 -E® -E®? E@B) E@4) -1 -E@4) -EQ®°® E®) E®?3 E#)  -E@4) -1 _E(4) -E@®°® E@®) E®?3 -E@4) E@B)°F -E4) E@®)
X1 | 1 -1 E(8) 1 E(4) 1 -1 —E@®) -1 —E4) 1 E®)  E(B)? —E(@8) E(4) 1 -1 E(4) —-E(4) -1 —-E®) —-E®)? E®B) -E4) 1 E(4) E@®)?® -E®B) -—-E@8)? E(4) —E(4) -1 —-E(4) —-E®)? E®) E®?® E@4) -E@®8)? -E4) E(8)3
X20 | 1 -1 —E(8) 1 E(4) 1 -1 E(@8) -1 —E4) 1 —-E@R) —E@8) E(@8) E(4) 1 -1 E(4) —-E(4) -1 E(8) E@®) —E(8) —E(4) 1 E(4) —E®)* E(8) E(8)3 E(4) —E(4) -1 —E(4) E@®)® —E@8) —-E®8)? E@4) E@®)?3 —-E(4) -E(@8)3
xa |1 1 E@®? 1 “EM@) 1 -1 E®® 1 —E@4) -1 E@®P E@®) —E®8)? —E(@4) 1 -1 —E(4) E(4) -1 E®)?® E@B) -E®8?® —E@4) -1 Ed4) E@8) —E@B)?® -EBE@8) —E4) E(4) -1 E(4) E(8) —E®8)? —E@B) E@4) -BE@S)  E4)  —E®)
X2 | 1 1 —E(8)3 1 “EMA) 1 -1 —E®® 1 —E@) -1 —E@g)? —E@8) E{8)? —E(4) 1 -1 —E(4) E(4) -1 —-E®)?® -E@B) E®)?® -E@4) -1 B4 -E@8) E®)? E@8)  -EA4) E(4) -1 E(4) -E@8) E®)?® E@S) E(4) E®) E(4) E(8)
Y| 1 -1 E(®) 1 _BE@4) 1 -1 -E®F -1 E@4) 1 EQ®? E®) -BER®® —E@4) 1 1 _E(4)  E#) -1 -EQ)P® -E(®) E@B?® E4) 1 -E4) E@®) -EQ®° -BE®) -E@4)  E(4) 1 E(4) -E@) E(R}® E{R) -E(4) -EQ®  E@)  E@)
Xoa| 1 -1  —EB@YP 1 “B(4) 1 -1 E@8)® -1 B4 1 —E@8)?} -—E@8) E®? —E4) 1 -1 —E(4) E(4) -1 E@8)?® E(8) -E®B?® EWX) 1 —E@4) -ER® ER?P ES)  —E(4) E(4) -1 E(4)  ER) —EB® —E@8) —-E@4) E®8)  E@4) —E@)
x2s | 1 E(4) E(8) -1 E(4) 1 -1 E®?® -E@4) -1 -E@4) —-E®B) E®B?® -E®B) —E#4) -1 1 E(4) —-E4) -1 —-E®)? —-E®B) —-E(8)3 1 E(4) 1 —E®8) E®) -E®)? —E@4) E(4) 1 —FE(4) E®)  E(®)? E(@) -1 E(8)3 E(4) —E(8)
X6 | 1 E(4) —E@) -1 E(4) 1 -1 —E®)?® —E4) -1 —E@4 E@8) -E@8)? E{8)  —E4) -1 1 E(4) “EM4) -1 E@®? E®) E®8? 1 EM4) 1  E®? -E@8) E®8?® —E@) E(4) 1 —E(4) —E@B) -E®8?® -EB) -1 -—ES8? E4) E(8)
Xor | 1 —E(4)  E@) -1 E(4) 1 -1 —-E@®)?® E@4) 1  E@) -B@8) E@®)? -E@8 —BE4) -1 1 E(4) “EM4) -1 E@8)? E@®) E@8? -1 -—E4) -1 -—E®8)?® E@B) -—E®8? —EA4) E(4) 1 —E(4) —E@) —-E®?® -E®B) 1  E®B?  E@) E(8)
Yos | 1 —E(4) -E@® -1 E4) 1 -1 E®* E@4 1 E#) E® -EQP E@B) -E@& 1 1 E(4)  -E@) -1 -EQ®3 —-E@B) -E@®° -1 —-E@4) -1 E@®° -E@® E® -E4)  E@4) 1 _E(#) E®) E@®°® E® 1 -E@®° E#4) —E@)
Xoo | 1 E()  E@®) 1 _EM) 1 -1 —E@8) -E(4) 1 —E@4) —-EQ®° E®8 -E@8?® E() -1 1 _E@4) E@4) -1 E@B) EE®? E® -1 E@) -1 -E@8 E®® -ES) E@4)  -E@4) 1 E(4) -E®?® -E®) -E@®° 1 BB -E@) E@)
xs0| 1 E(4) —E@8)? -1 —E(4) 1 -1 E®B) -E@4 1 —-E(4) E®)? -E®) E®)3 E(4) -1 1 —E(4) E(4) -1 —E@®) —-E@8)® -E8) -1 E(4) -1 E®) —E@8)3 E(@8) E(4) —FE(4) 1 E(4) E®)? E®) E(8)3 1 —-E®) —-EM4) -E®)3
Xai| 1 —E@)  E@®)? 1 “EM) 1 -1 E@®) B@A) -1  E@4) -E@®? E®8) -ES)P  E(4) 1 1 _E(4)  E(@) -1 -E{® —E@B® -E®8 1 —E@4) 1 —E@® ER? -E®) E@4  —E@4) 1 E@4) E@®?® E@B) E®P -1  EQB) —E@4) —E®8)?
X2 | 1 —E(4) —E®?3 -1 “EMA) 1 -1 —E@) E@4) -1 E@4) E{®? -E{8) E®8)?  E(4) -1 1 —E(4) E(4) -1 E@®) E@®?  E@) 1 —EM4) 1 E(8) —E®8)?® E(8) E(4) —E(4) 1 E(d) —E@®8? -—ER8) -E@8? -1 —ES8) -E@4) E@8)?
Xzl 2 0 0 2« E(4) 2 2 2 0 0 0 0 0 0 0 2+ E(4) —2+E(4) 2% E(4) 2 2 2 0 0 0 0 0 0 0 0 0 —2xE@4) 2+E@4) —2+E@4) -2 0 0 0 0 0 —2xE@4) 0
Xsa| 2 0 0 2x«E(4) 2 2 2 0 0 0 0 0 0 0 —2+Ed) —2xE@4) 2xE(4) 2 N 0 0 0 0 0 0 0 0 2% E(4) —2%E(4) —2%E(4) 2 0 0 0 0 0 2 % E(4) 0
Xs5|2 0 0 —2xE4) 2 2 2 0 0 0 0 0 0 0  —2+E@4) 2+E@A) -2+B@4) -2 2 2 0 0 0 0 0 0 0 0 0 2% E(4) —2xE(4) 2% E(4) ) 0 0 0 0 0 2« B(4) 0
x| 2 0 0  —2«EM4) -2 -2 2 0 0 0 0 0 0 0 2+ E(1) 2+ E(4) —2xE(4) 2 2 20 0 0 0 0 0 0 0 0 —2+B(4) 2+E{) 2xE(4) 2 0 0 0 0 0  —2x«E4) 0
xsm| 2 0 0 2+E@4) 2+E@4) -2 -2 0 0 0 0 0 0 0 9 2xE(4) —2+E(4) —2+E@4) —2xE@4) 2 0 0 0 0 0 0 0 0 0 2 2 2+ E(4) 2% E(4) 0 0 0 0 0 2 0
Xss| 2 0 0 2+E@4) -2%xE@4) -2 -2 0 0 0 0 0 0 0 2 2+ E(4) —2+E(4) 2+E@) 2+E#4) 2 0 0 0 0 0 0 0 0 0 9 2 2« E(4) —2+E(4) 0 0 0 0 0 2 0
Xz | 2 0 0 —2xE@) 2+E@4) -2 -2 0 0 0 0 0 0 0 2 2« E(4) 2 R E(4) 2% E(4) —2+E(4) 2 0 0 0 0 0 0 0 0 0 9 2 24E@4) 2+E®4) 0 0 0 0 0 2 0
X |2 0 0  —2+BE(4) —2+E@4) -2 -2 0 0 0 0 0 0 0 ) 2« B(4) E(4) 2+E@4) 2x+E#4) 2 0 0 0 0 0 0 0 0 0 2 2 2% B(4) —2%E@4) 0 0 0 0 0 —2 0
Trivial source character table of G = (C8 : C8) : 1 at p = 2:
Normalisers IV; Ny | No | N3 | Ny | N5 | Ng | N7 | Ng | Ng | Nig | N11 | Ni2 | N1z | Nig | Nis | Nig | N1z | Nig | Nig | Nog | Noy | Nog | Noz | Nog | Nos | Nog | Noy | Nog | Nag | N3g | N1 | Naa | N33
p-subgroups of G up to conjugacy in G Py | P | P3| Py | Ps | B | Pr| P | Po|Pro| Piu | Pio| Pis | Pra| Pis | Pig| Pir| Pis | Pro| Pao | Por | Poo | Pag | Pag | Pos | Pog | Por | Pag | Pag | P3o | P31 | P3o | Ps3
Representatives n; € N; la | la | la | la | 1la | la | 1la | 1la | la | la la la la | 1a | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | la | 1la | 1la | 1la | 1la | la | la | la | la | la
T-x1+1-xo+1-x3+1-xa+1-x5+1-x6+1-x7+1-xs+1-xo+1-x10+1-x11+1-x2+1-x13+1-xu+1-xi5+1-x16+1-x17+1-x18+1-x190+1-x20+1-xo1+1-x2+1-xa3+1-x2a+1-xa5+1-x26+1 xor+1-xes+1-Xxo0+1-Xx30+1-Xx31+1-Xx32+2-Xx33+2-Xx34+2-X35+2-X36+2-X3r+2-X38+2-X30+2-X40 64| 0O | 0| 0| 0] 0] 0] 0] O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xya+1-xo+1-xa+1-xa+1-xs+1-x¢6+1-x7+1-xg+1-xo+1-x0+1-x11+1-x12+1-x13+1-x1a+1-x15+1-x16+0-x17+0-x18+0-x19+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-x30+0-Xx31+0-x32+2-Xx33+2-Xx34+2-Xx35+2-x36+0-x37+0-x38+0-x30+0-Xx40(32|32| 0] 0] 01| 0] 0] 0|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-xo+1-x3+1-xa+1-xs+1-x6+1-x7+1-xs+1-xo+1-x0+1-x11+1-x2+1-xi3+1-x1a+1-x15+1-x16+0-x17+0-x18+0-x19+0-x20+0-Xx214+0-x224+0-x23+0-x24+0-x25+0-x26+0:Xx274+0-x28+0-x290+0-x30+0-x31+0-x32+0-x334+0-x3a+0-x35+0-x36+2-x37+2-X38+2-X30+2-Xa0 | 32| 0 [32| 0] 0] 0| 0] 0] O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xya+1-xo+1-xa+1-xa+1-xs+1-x¢6+1-x7+1-xg+1-xo+1-x0+1-x11+1-x12+1-x3+1-xa+1-x5+1-x6+1-x17+1-x1is+1-x19+1-x0+1-xo1+1-xo2+1-xo3+1-xoa+1-xo5+1-x26+1 -Xxor+1-x8+1-x9+1-x30+1-Xx31+1-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x30+0-X20[32| 0 | 0|32 01| 0] 0] 0|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T-x1+1-xo+1-x3+1-xa+1-xs+1-x6+1-x7+1-xs+1-xo+1-x10+1-x11+1-xi2+1-xi3+1-xu+1-x15+1-x16+0-x17+0-x18+0-X190+0-x20+0-x21 +0-x220+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-Xx20+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37r+0-x38+0-x30+0-x40 | 16 | 16 | 16 | 16 | 16 | O | O | O | O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x24+1-x34+1-xa+1-xs+1-x6+1-x7+1-x8+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+1-x1s+1-x190+1-x0+1-x21+1-x2+1 -xa3+1-x24+0-x25+0-%26+0-x27+0-x28+0-%x20+0-x30+0-x31+0-x32+0-x33+0-Xx34+0-x35+0-x36+0-x37+0-x38+0-X39+0-xa0| 16| O | O |16] O |16 O | O | O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T-x1+1-xo+1-x3+1-xa+1-x5+1-x6+1-x7+1-x8+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-x18+0- X190 +0-x20+0-x21 +0-x220+0-x23+0-x2a+1 -x25+1-x26+1 -xor+1-xes+1-Xx20+1-x30+1-x31+1-Xx32+0-x33+0-Xx34+0-x35+0-x36+0-x37r+0-x38+0-x30+0-x40 | 16| 0O | 0O |16 0 | O |16] 0| O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xi+1-x2+1-x3+1-xa+0-x5+0-x6+0-x7+0-xg+1-xo+1-x10+1-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-Xx29+0-x30+0-x31+0-x32+2-x33+0-x34+2-x35+0-x36+0-x37+0-x38+0-x30+0-X40| 16 |16 | O | O | O | O | O |16 O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T-x1+1-x2+1-x3+1-x4+0-x5+0-x6+0-x7+0-xs+1-xo+1-x10+1-x11+1-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-x18+0- X190 +0-Xx20+0-x21 +0-x220+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32+0-x33+2-Xx34+0-x35+2-Xx36+0-x37+0-x38+0-Xx39+0-x40 |16 |16 | 0 | O | O | O | O | 0|16 O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi1+1-x2+1-x3+1-x4a+0-x5+0-x6+0-x7+0-x8+0-x90+0-Xx10+0-x11+0-x12+1-x13+1-x1a+1-x15+1-x16+0-x17+0-x18+0-X19+0-Xx20+0-x21+0-x220+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-Xx29+0-x30+0-x31+0-x32+0-x33+0-x34a+0-x35+0-x36+0-Xx37+2-x38+2-X39+0-x20| 16| 0 |16 0| O] O | O | O] O] 16 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T-x1+1-x2+1-x3+1-x4+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+1-x13+1-xua+1-x15+1-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-Xx20+0-x30+0-x31+0-Xx32+0-x33+0-x34+0-x35+0-x36+2-x37r+0-x38+0-X30+2-Xx40 | 16| 0 | 16| O | 0] 0] 0] 0] O 0 |16 | O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xi+1-xo+1-x3+1-xa+1-x5+1-x¢6+1-x7+1-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-x14+0-x15+0-X16+0-x17+0-x18+0-X19+0-x20+0-x21 +0-Xx22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32+0-x33+0-x32+0-x35+0-x36+0-x37+0-x38+0-X30+0-x40| 8 | 8 | 8| 8| 8| 8| 8| 0] 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+1-x3+1-xa+0-x5+0-x6+0-x74+0-xg+1-xo+1-x10+1-x11+1-x12+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x274+0-x28+0-x294+0-x30+0-x31+0-x32+0-x334+0-x34+0-x35+0-x36+0-x37+0-x38+0-x30+0-Xa0| 8 | 8 | 8| 8| 8| 0] 0] 8|8 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi+1-xo+1-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+1-x13+1-x1a+1-x15+1-X16+0-x17+0-x18+0-X19+0-x20+0-x21 +0-Xx22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x290+0-x30+0-x31+0-x32+0-x33+0-x32+0-x35+0-x36+0-x37+0-x38+0-X30+0-x40| 8 | 8 | 8| 8| 8] 0| 0| 0] 0 8 8 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-xa+1-x5+1-x6+0-x74+0-x8+0-x90+0-x10+0-x11+0-x124+0-x13+0-x14a+0-x15+0-x16+1-x17+1-x18+0-x19+0-x20+1-xo1+1-x22+0-x23+0-x24+0-x25+0-x26+0-x274+0-x28+0-x294+0-x30+0-x31+0-x32+0-x334+0-x34+0-x35+0-x36+0-x37+0-x38+0-x30+0-Xa0| 8 | O | O | 8] 0| 8] 0] 0|0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-xa+1-x5+1-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-x14+0-x15+0-X16+0-x17+0-x18+1-Xx19+1-x20+0-x21+0-x22+1-x23+1-Xx24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-X30+0-x40| 8 | 0| 0| 8| 0] 8| 0|0]O0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-xa+0-x5+0-x¢6+1-x7+1-x8+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+1-x25+1-x26+0-x27+0-x28+0-Xx29+0-x30+1-x31+1-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x30+0-Xa0| 8 | O | O | 8] 0| 0] 8] 0|0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-x4+0-x5+0-x6+0-x7+0-xg+1-xo+0-x10+1-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-Xx21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-Xx29+0-x30+0-x31+0-x32+1-x33+0-x3a+1-x35+0-x36+0-x3r+0-x38+0-x30+0-X20| 8 | 8| O] 0| 0| 0] 0] 8|0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-xa+0-x5+0-x¢6+1-x7+1-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+1-xo7r+1-x8+1-Xx29+1-Xx30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x30+0-Xa0| 8 | O | O | 8] 0| 0] 8] 0|0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2o+1-x3+0-x4a+0-x5+0-x6+0-x7+0-x8+0-x9+1-x10+0-x11+1-x12+0-Xx13+0-x14+0-x15+0-X16+0-x17+0-x18+0-X190+0-x20+0-x21 +0-Xx22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32+0-x33+1-x34+0-x35+1-x36+0-x37+0-x38+0-X30+0-x40| 8 | 8] 0| 0| 0] 0| 0| 0] 8 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+1-Xx13+0-x14+0-x15+1-X16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-x30+0-x31+0-x32+0-x33+0-x32+0-x35+0-x36+0-x37+1-x38+1-X30+0-x40| 8 | 0O | 8] 0| 0] 0| 0| 0] O 8 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0
T-xa+0-xo+0-x3+1-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+1-x14+1-x15+0-x16+0-x17+0-X18 +0-X10+0-x20+0-x21 +0-x220+0-x23+0-x24 +0-x25 +0-x26+0-x2r+0-x28 +0-x20+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36 +1-x37+0-x38+0-x30+1-x40| 8 | 0O | 8] 0] 0] 0] 0]0]O0] O 8 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-xa+1-x5+1-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-Xx27+0-x28+0-Xx29+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x30+0-Xxa0| 4 | 4 | 4 | 4| 4| 4] 4] 0|0 0 0 4 0 0 4 4 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0
1T-x1+1-x2+0-x3+0-x4+0-x5+0-x6+1-x7+1-x8+0-Xx0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-x18+0- X190+ 0-Xx20+0-x21 +0-x220+0-x23+0-x24+0-x25+0-x26+0-x27 +0-x28+0-Xx20+0-x30+0-x31+0-Xx32+0-x33+0-Xx34+0-x35+0-x36+0-x37r+0-x38+0-Xx30+0-x40 | 4 | 4 | 4 | 4| 4] 4] 4]0]0 0 0 4 0 0 0 0 4 0 4 0 0 0 0 4 0 0 0 0 0 0 0 0 0
1-x14+0-x2+1-x3+0-x4a4+0-x5+0-x6+0-x74+0-xs+0-xo+1-x10+0-x11+1-x12+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-Xx190+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x290+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x30+0-xa0| 4 | 4 | 4| 4] 4] 0|0 | 4] 4 0 0 0 4 0 0 0 0 0 0 4 0 0 0 0 4 0 0 0 0 0 0 0 0
I-x1+0-x2+1-x3+0-xa+0-x54+0-x6+0-x7+0-xs+1-x0+0-x10+1-x11+0-x12+0-Xx13+0-x14+0-x15+0-x16 +0-Xx17+0-x18 +0-Xx19+0-x20+0-x21 +0-x220+0-x23+0-x24 +0-x25 +0-Xx26 +0-x27+0- X258 +0-x20+ 0-Xx30 +0-x31 +0-Xx32+0-x33+0-Xx34+0-x35 +0-x36+0-x37+0-x38+0-x39+0-x40| 4 | 4 | 4 ]| 4 4]0 ]0]4]4]0 0 0 4 0 0 0 0 4 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0
1-x1+0-x24+0-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+1-x1a+1-x15+0-x16+0-x174+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x234+0-Xx24+0-x25+0-x26+0-x27+0-x28+0-x29+0-x30+0-x31+0-x32+0-Xx33+0-x34+0-x35+0-Xx36+0-x37+0-x3s+0-X30+0-xa0| 4 | 4 | 4| 4| 4] 0] 0|00 4 4 0 0 4 0 0 0 0 0 0 0 4 0 0 0 0 4 0 0 0 0 0 0
T-x1+1-x2+1-x3+1-x4+0-x5+0-x6+0-x7+0-xs§+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-x18+0- X190+ 0-x20+0-x21 +0-x220+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32+0-x33+0-Xx34+0-x35+0-Xx36+0-x37+0-x38+0-x30+0-x40 | 4 | 4 | 4 | 4] 4] 4] 4] 4] 4] 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0
1-x1+0-x24+0-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+1-x13+0-x14a+0-x15+1-Xx16+0-x174+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-Xx24+0-x25+0-x26+0-x27+0-x28+0-x29+0-x30+0-x31+0-x32+0-Xx33+0-x34+0-x35+0-Xx36+0-x37+0-x3s+0-X30+0-xa0| 4 | 4 | 4| 4| 4] 0] 0| 0] 0 4 4 0 0 4 0 0 0 0 0 0 4 0 0 0 0 0 0 0 4 0 0 0 0
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-x18 +0- X190 +0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x2r +0-x28+0-Xx20+0-x30+0-x31+0-Xx32+0-x33+0-Xx34+0-x35+0-x36+0-x37r+0-x38+0-Xx30+0-x40 | 2 | 2 | 2 | 2| 2| 2] 2] 2] 2 2 2 2 2 2 2 2 2 0 2 0 0 0 2 2 0 0 0 2 0 2 0 0 0
1-x1+0-x2+0-x3+1-x4a+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-X29+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-x30+0-Xa0| 2 | 2 | 2| 2| 2| 2| 2| 2|2 2 2 2 2 2 0 0 0 0 0 0 2 2 0 0 0 0 2 2 2 0 2 0 0
1-x1+0-x2+1-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-X16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-x30+0-x31+0-x32+0-x33+0-x32+0-x35+0-Xx36+0-x37+0-x38+0-X30+0-xa0| 2 | 2 | 2 | 2| 2| 2| 2|22 2 2 2 2 2 0 0 0 2 0 2 0 0 0 0 2 2 0 2 0 0 0 2 0
1-x14+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-X16+0-Xx17+0-x18+0-x190+0-x20+0-x21+0-X22+0-x23+0-x24+0-x25+0-x26+0-Xx27+0-x28+0-x20+0-x30+0-x31+0-x32+0-x33+0-x34+0-x35+0-x36+0-x37+0-x38+0-Xx30+0-xa0| 1 | 1T | 1T | 1T | 1T |1 |1 ] 1] 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
P1 = Group([()]) = 1
Group([(l, 7)(2 12)(3, 16) (4, 19)(57 21)(6, 22)(8, 26) (9, 29)(10, 31)(11, 32)(13, 35)(147 37)(15, 38)(17 40)(18, 41)(207 42)(23, 45)(24, 47) (25, 48)(277 50)(287 51 )(30 52) (33, 54)(34, 55)(367 56) (39, 57) (437 59) (44, 60) (46, 61)( , 2)(537 63) (58, 64)]) =~ (C2
= Group([(1,22)(2,32)(3,38)(4,41)(5,42)(6,7)(8,48)(9,51)(10,52)(11, 12)(13, 55)(14, 56) (15, 16) (17, 57)(18, 19)(20, 21)(23,60)(24, 61)(25, 26) (27, 62) (28, 29) (30, 31) (33, 63) (34, 35)(36, 37)(39, 40) (43, 64) (44, 45) (46, 47) (49, 50) (53, 54) (58, 59)]) = C2
P4 = Group([(1,6)(2,11)(3,15)(4, 18)(5,20)(7,22)(8,25)(9, 28)(10,30)(12, 32)(13, 34)(14, 36)(16, 38)(17, 39)(19,41)(21,42)(23 44)(24,46)(26, 48)(27,49)(29,51)(31,52)(33, 53)(35, 55) (37, 56) (40, 57)(43, 58)(45, 60) (47, 61) (50, 62)(54, 63)(59, 64)]) = C2
= Group([(1,7)(2,12)(3,16)(4, 19)(5721)(6722)(8726)(9,29)(10,31)(11,32)(13 35)(14,37)(15,38)(17,40)(18,41)(20,42)(23, 45)(24,47)(25,48)(27,50)(28, 51)(30, 52)(33, 54)(34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63)(58,64), (1,6)(2, 11)(3,15)(4, 18)(5,20)(7, 22)(8, 25)(9, 28)(10, 30) (12, 32)(13, 34)(14, 36)(16, 38) (17, 39)(19,41)(21, 42)(23, 44)(24, 46)(26, 48)(27,49)(29, 51)(31, 52) (33, 53)(35, 55)(37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64)]) = C2 x C2
P6 Group([(1,4,6,18)(2,9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49)(12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55)(21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22) (8, 25)(9, 28)(10, 30) (12, 32)(13, 34) (14, 36) (16, 38)(17, 30)(19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49)(29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64)]) = C4
P7 — Group([(1,19,6,41)(2,29, 11, 51)(3, 35, 15, 55) (4, 22, 18, 7)(5, 40, 20, 57)(8, 45, 25, 60) (9, 32, 28, 12)(10, 50, 30, 62)(13, 38, 34. 16) (14, 54. 36, 63) (17, 42, 39, 21)(23, 48, 44, 26)(24, 59, 46, 64) (27. 52, 49, 31)(33, 56,53, 37)(43. 61, 58, 47), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20) (7, 22)(8, 25)(9. 28) (10, 30) (12, 32)(13, 34) (14, 36)(16, 38) (17, 30)(19, 41)(21, 42)(23, 44) (24, 46) (26, 48)(27, 49)(29. 51) (31, 52)(33, 53) (35, 55) (37, 56) (40, 57) (43, 53) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64)]) = C4
— Group([(1,5,7,21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52)(13, 33, 35, 54) (15, 36. 38, 56)(18, 39, 41, 57)(23, 43, 45, 59)(25. 46, 48, 61) (28, 49, 51, 62) (34, 53, 55. 63) (44, 53, 60, 64), (1, 7)(2, 12)(3. 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 20) (10, 31) (11, 32)(13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59)(44,60)(46,61)(49 62)(53,63)(58, 64)]) = C4
— Group([(1,20,7,42)(2, 30, 12, 52)(3, 36, 16, 56) (4, 39, 19, 57)(5, 22, 21, 6)(8, 46, 26, 61)(9, 49, 20, 62)(10, 32, 31, 11)(13, 53, 35. 63)(14, 38, 37, 15)(17, 41, 40, 18)(23, 58, 45, 64)(24. 48. 47, 25)(27, 51, 50, 28)(33. 55, 54, 34) (43, 60, 59, 44), (1. 7)(2. 12) (3. 16)(4, 19)(5. 21)(6, 22)(8, 26)(9. 20)(10, 31) (11, 32)(13. 35)(14, 37)(15. 38) (17, 40)(18, 41)(20, 42) (23, 45)(24. 47)(25, 48)(27. 50)(28. 51)(30, 52) (33, 54) (34, 55)(36. 56) (39, 57 (43, 59) (44. 60) (46, 61)(49, 62) (53, 63) (58, 64)]) = C4
P10 — Group([(1,17, 22, 57)(2, 27, 32, 62)(3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18)(6, 39, 7, 40) (8, 43, 48, 64)(9, 30, 51, 31)(10, 29, 52, 28)(11, 49, 12, 50)(13, 36, 55, 37) (14, 35, 56, 34) (15, 53, 16, 54)(23, 46, 60, 47) (24, 45, 61, 44) (25, 53, 26, 59), (1, 22)(2, 32)(3, 38) (4, 41)(5, 42) (6, 7) (8, 48)(9, 51)(10, 52) (11, 12)(13, 55) (14, 56) (15, 16) (17, 57)(18, 19)(20, 21)(23, 60)(24, 61)(25, 26) (27, 62)(28, 20)(30, 31)(33, 63) (34, 35)(36, 37) (39, 40) (43, 64) (44, 45) (46, 47) (49, 50) (53, 54)(58, 50)]) = C4
Pr1 = Group([(1,39, 22, 40)(2, 49, 32, 50)(3, 53, 38, 54) (4, 5, 41, 42) (6, 17, 7, 57) (8, 58, 48, 59)(9, 10,51, 52)(11, 27, 12, 62)(13, 14, 55, 56) (15, 33, 16, 63) (18, 20, 19, 21)(23, 24, 60, 61) (25, 43, 26, 64)(28, 30, 29, 31)(34, 36, 35, 37) (44, 46, 45, 47), (1, 22) (2, 32)(3, 38) (4, 41) (5, 42) (6, 7)(8, 48) (9, 51) (10, 52) (11, 12)(13, 55) (14, 56) (15, 16) (17, 57) (18, 19) (20, 21)(23, 60)(24, 61)(25, 26)(27, 62)(28, 20)(30, 31)(33, 63) (34, 35)(36, 37)(39, 40) (43, 64) (44, 45) (46, 47) (49, 50) (53, 54) (58, 59)]) = C4
Pis = Group([(1.7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56)(39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39)(19, 41)(21, 42)(23, 44)(24, 46)(26, 48)(27, 49)(29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1, 4, 6, 18)(2, 9, 11,28)(3, 13, 15, 34)(5, 17, 20, 30) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 20, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 53)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64)]) = C4 x C2
Pis = Group([(1,7)(2,12)(3, 16)(4, 19)(5, 21)(6, 22)(8. 26)(9, 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56 (39, 57 (43, 50) (44, 60) (46, 61)(49, 62) (53, 63)(58, 64). (1. 6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22)(8, 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39)(19, 41)(21, 42)(23, 44)(24, 46)(26, 48)(27, 49)(29, 51)(31, 52)(33, 53)(35, 55 (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1. 5, 7. 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27. 29, 50)(11, 30, 32, 52)(13, 33, 35, 54) (15, 36, 38, 56 (18, 39, 41, 57)(23, 43, 45, 59)(25., 46, 48, 61) (28, 49, 51, 62) (34, 53, 55. 63)(44. 53, 60, 64)]) = C4 x C2
Puy = Group([(1.7)(2, 12) (3. 16)(4, 19)(5, 21)(6, 22)(8, 26)(9. 20)(10, 31) (11, 32)(13. 35)(14, 37)(15, 38) (17, 40)(18, 41)(20, 42) (23, 45)(24. 47)(25, 48)(27. 50) (28, 51)(30, 52) (33, 54) (34, 55)(36. 56) (39, 57 (43, 59) (44. 60)(46, 61)(49, 62) (53, 63) (58, 64). (1.6)(2, 11)(3, 15)(4. 18) (5. 20)(7. 22)(8. 25)(9, 28) (10, 30) (12, 32)(13, 34) (14, 36) (16, 38)(17, 30)(19, 41) (21, 42)(23. 44)(24, 46 (26, 48) (27, 49)(20. 51)(31, 52)(33. 53)(35. 55) (37, 56 (40, 57) (43, 58)(45, 60 (47, 61) (50, 62) (54, 63)(59, 64). (1, 17, 22, 57)(2, 27, 32, 62) (3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18)(6, 39, 7, 40)(8, 43, 48, 64)(9. 30, 51. 31) (10, 29, 52. 28)(11, 49, 12, 50)(13, 36, 55, 37) (14, 35, 56, 34)(15. 53. 16, 54)(23, 46, 60, 47) (24, 45. 61, 44)(25 58,26,59)]) = C4 x C2
Pis = Group([(1.2,4,9,6, 11, 18,28)(3, 25, 13, 44, 15,8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 29. 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43)(16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59), (1, 4, 6, 18)(2,9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 6)(2, 11)(3, 15) (4, 18)(5, 20) (7, 22) (8, 25)(9, 28)(10, 30)(12, 32)(13, 34) (14, 36)(16, 38)(17, 39)(19, 41)(21, 42) (23, 44) (24, 46) (26, 48)(27, 49) (29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64)]) =
Pio = Group([(1,12, 4,29, 6,32, 18, 51)(2, 19,9, 22, 11,41, 28, 7)(3, 48, 13, 60, 15, 26, 34, 45)(5, 31, 17, 50, 20, 52, 30, 62)(8, 55, 23, 16, 25, 35, 44, 38) (10, 40, 27, 42, 30, 57, 49, 21) (14, 61, 33, 64, 36, 47, 53, 59) (24, 63, 43, 37, 46, 54, 58, 56, (1, 4, 6, 18)(2, 9. 11, 28)(3, 13, 15, 34) (5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49)(12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21. 40, 42, 57)(24, 43, 46, 53) (26, 45. 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64), (1, 6)(2, 11)(3, 15)(4. 18)(5, 20) (7, 22) (8. 25)(9, 28) (10, 30)(12, 32) (13, 34) (14, 36) (16, 38)(17, 30) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49)(29, 51) (31, 52)(33, 53) (35, 55) (37, 561 (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64)]) =
Piy = Group([(1,31,19,27, 6,52, 41,49)(2, 40,29, 20, 11,57, 51, 5)(3, 61, 35, 58, 15, 47, 55, 43) (4, 50, 22, 30, 18, 62, 7, 10)(8, 63, 45, 14, 25, 54, 60, 36)(9, 42, 32, 39, 28,21, 12, 17) (13, 64, 38, 24, 34, 59, 16, 46) (23, 37, 48, 33, 44, 56, 26, 53), (1, 19,6, 41)(2, 29, 11, 51)(3, 35, 15, 55)(4, 22, 18, 7)(5, 40, 20, 57)(8, 45, 25, 60) (9, 32, 28, 12)(10, 50, 30, 62) (13, 38, 34, 16) (14, 54, 36, 63)(17, 42, 30, 21)(23, 48, 44, 26) (24, 59, 46, 64) (27, 52, 49, 31)(33, 56, 53, 37)(43, 61,58, 47), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32) (13, 34) (14, 36)(16, 38) (17, 39)(19, 41)(21, 42)(23, 44) (24, 46) (26, 48) (27, 49)(29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63)(59, 64)]) == 08
Pis = Group([(1.3,5, 14,7, 16,21, 37)(2, 8, 10, 24. 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54)(6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 29, 45,50, 50)(11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 39, 53, 41, 5. 57, 63) (28, 44, 49, 58, 51. 60, 62, 64), (1, 5,7, 21)(2, 10,12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6. 20, 22, 42)(8, 24. 26, 47)(9, 27,29, 50)(11, 30, 32, 52) (13, 33, 35, 54)(15, 36, 38, 56)(18, 39, 41, 57) (23, 43, 45, 59 (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 7)(2. 12)(3. 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 29)(10, 31)(11, 32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42)(23, 45) (24, 47) (25, 48) (27, 50 (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 50) (44 60) (46, 61)(49, 62) (53, 63) (58, 64)]) = %
Pio = Group([(1, 10,19, 50, 6,30, 41, 62)(2, 17,29, 42, 11,39, 51, 21)(3, 46, 35, 64, 15, 24, 55, 59) (4, 27, 22, 52, 18,49, 7, 31)(5, 12, 40,9, 20, 32, 57, 28) (8, 53, 45, 37, 25, 33, 60, 56) (13, 58, 38, 47, 34, 43, 16, 61) (14, 48, 54, 44, 36, 26, 63, 23) (1, 19, 6, 41)(2, 29, 11, 51)(3, 35, 15, 55) (4, 22, 18, 7)(5. 40, 20, 57)(8, 45, 25, 60)(9, 32, 28, 12)(10, 50, 30, 62) (13, 38, 34, 16)(14, 54, 36, 63)(17, 42, 30, 21)(23, 48, 44, 26)(24, 59, 46, 64)(27, 52, 49, 31)(33, 56, 53, 37) (43, 61, 58, 47), (1. 6)(2, 11)(3, 15)(4, 18)(5, 20) (7, 22)(8, 25)(9, 28)(10, 30)(12, 32)(13, 34)(14, 36)(16, 38)(17, 39)(19, 41)(21, 42)(23, 44) (24, 46) (26, 48) (27, 49)(29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64)]) = C%
Pao = Group([(1,13,20,53,7, 35,42, 63)(2, 23, 30, 58, 12, 45, 52, 64) (3, 17, 36, 41, 16, 40, 56, 18) (4, 15, 39, 14, 19, 38, 57, 37) (5, 33, 22, 55, 21, 54, 6, 34) (8, 27, 46, 51, 26, 50, 61, 28) (9, 25, 49, 24, 29, 48, 62, 47)(10, 43, 32, 60, 31, 59, 11, 44), (1,20, 7, 42) (2, 30, 12, 52) (3, 36, 16, 56) (4, 39, 19, 57)(5, 22, 21, 6)(8, 46, 26, 61)(9, 49, 29, 62) (10, 32, 31, 11)(13, 53, 35, 63) (14, 38, 37, 15) (17, 41, 40, 18)(23, 58, 45, 64) (24, 48, 47, 25)(27, 51, 50, 28) (33, 55, 54, 34) (43, 60, 59, 44), (1, 7)(2, 12)(3, 16) (4, 19) (5, 21)(6, 22) (8, 26)(9, 29) (10, 31)(11, 32)(13, 35) (14, 37)(15, 38)(17 40)(18, 41)(20, 42)(23, 45)(24, 47)(25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64)]) = C8
Poy = Group([(1,44, 17, 24,22, 45, 57, 61)(2, 3. 27, 33, 32. 38, 62, 63)(4. 8, 20, 43, 41, 48, 21, 64)(5, 58, 19, 26, 42, 59, 18, 25) (6, 23, 39, 46, 7, 60, 40, 47)(9, 13, 30, 36, 51, 55, 31, 37)(10, 14, 29, 35, 52, 56, 28, 34) (11, 15, 49, 53, 12, 16, 50, 54), (1, 17, 22, 57)(2, 27, 32, 62)(3, 33, 38, 63)(4, 20, 41, 21)(5, 19, 42, 18)(6, 39, 7, 40)(8, 43, 48, 64)(9. 30, 51. 31)(10, 20, 52, 28)(11, 49, 12, 50) (13, 36, 55, 37) (1. 35. 56, 34)(15, 53, 16, 54) (23, 46, 60, 47) (24, 45, 61, 44)(25, 58, 26, 59). (1. 22) (2, 32)(3, 38) (4, 41)(5, 42) (6, 7)(8,48)(9, 51) (10, 52) (11, 12) (13, 55) (14, 56) (15, 16)(17, 57)(18, 19)(20, 21) (23, 60) (24, 61)(25, 26) (27, 62) (28, 20)(30, 31)(33, 63) (34, 35)(36, 37) (39, 40) (43, 64) (44, 45) (46, 47) (49, 50)(53, 54)(58, 59)]) = C8
Py = Group([(1, 25,39, 43, 22, 26, 40, 64)(2. 34, 49, 36, 32, 35, 50, 37)(3, 10, 53, 51, 38, 52, 54, 0) (4, 44, 5. 46, 41, 45, 42, 47)(6. 8, 17, 58, 7, 48, 57, 50)(11, 13, 27, 14, 12, 55, 62, 56)(15, 30, 33, 20, 16, 31 63, 28)(18, 23, 20, 24. 19, 60, 21, 61), (1,39, 22. 40)(2, 49, 32, 50) (3, 53. 38, 54) (4. 5, 41, 42)(6, 17,7, 57)(8, 58, 48, 59)(9, 10, 51, 52) (11, 27. 12, 62) (13, 14, 55, 56)(15, 33, 16, 63) (18, 20, 19, 21)(23. 24, 60, 61)(25, 43, 26, 64)(28. 30, 20, 31) (34, 36, 35, 37)(44, 46, 45, 47). (1, 22)(2, 32)(3. 38) (4, 41)(5. 42)(6.7)(8, 48)(9, 51)(10, 52)(11, 12)(13, 55)(14, 56)(15, 16)(17, 57)(18, 19)(20, 21)(23, 60) (24, 61)(25, 26) (27, 62) (28, 20)(30, 31)(33, 63) (34, 35) (36, 37) (39, 40) (43, 64) (44, 45) (46, 47)(49, 50) (53, 54) (58, 59)]) = %
Pos = Group([(1.7)(2,12)(3, 16)(4, 19) (5, 21)(6, 22)(8, 26)(9. 29) (10, 31)(11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56)(39, 57)(43, 50) (44, 60) (46, 61)(49, 62) (53, 63)(58, 64), (1, 6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22)(8, 25)(9, 28) (10, 30)(12, 32)(13, 34) (14, 36) (16, 38)(17, 39)(19, 41)(21, 42)(23, 44)(24, 46) (26, 48)(27, 40)(29, 51)(31, 52) (33, 53)(35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1,2, 4,9, 6, 11, 18, 28)(3, 25, 13, 44, 15, 8, 34, 23) (5, 10, 17, 27, 20, 30, 39, 40) (7, 12, 19,29, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43)(16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62)(37, 61, 54, 64, 56, 47, 63, 59), (1,4, 6, 18)(2,9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53)(16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64)]) = C8 x C2
Poy = Group([(1,7)(2,12)(3, 16) (4, 19)(5, 21)(6, 22)(8, 26)(9, 20)(10, 31) (11, 32) (13, 35)(14, 37) (15, 38) (17, 40)(18, 41) (20, 42) (23, 45)(24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54)(34,55)(36 56)(39, 57)(43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25) (9. 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56 (40, 57) (43, 53) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64). (1, 10, 19, 50, 6,30, 41, 62)(2, 17, 20, 42, 11, 39, 51, 21)(3, 46, 35, 64, 15, 24, 55, 50) (4, 27, 22, 52, 18,49, 7, 31)(5, 12, 40,9, 20, 32, 57, 28)(8, 53, 45, 37, 25. 33, 60, 56 (13, 58, 38, 47, 34. 43, 16, 61) (14, 48, 54, 44, 36, 26, 63, 23), (1, 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5. 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49)(12, 29, 32, 51) (14, 33. 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64)]) = C8 x C2
Pos = Group([(1.7)(2. 12) (3. 16)(4, 19)(5, 21)(6, 22)(8, 26)(9. 20)(10, 31) (11, 32)(13. 35)(14, 37)(15, 38) (17, 40)(18, 41)(20, 42) (23, 45)(24. 47)(25, 48)(27. 50) (28, 51)(30, 52) (33, 54) (34, 55)(36. 56) (39, 57 (43, 59) (44. 60)(46, 61)(49, 62) (53, 63) (58, 64). (1.6)(2, 11)(3, 15)(4. 18) (5. 20)(7. 22)(8. 25)(9, 28)(10. 30) (12, 32)(13, 34) (14, 36) (16, 38)(17,30)(19, 41) (21, 42)(23. 44)(24, 46 (26, 48) (27, 49)(29. 51)(31, 52) (33, 53)(35. 55) (37, 56 (40, 57) (43, 58)(45, 60 (47, 61) (50, 62) (54, 63)(59, 64). (1, 13,20, 53, 7. 35. 42. 63)(2. 23. 30 58, 12, 45, 52. 64)(3, 17, 36, 41, 16, 40, 56, 18) (4, 15, 39, 14, 19, 38, 57, 37)(5, 33, 22, 55, 21, 54, 6, 34) (8, 27, 46, 51, 26, 50, 61, 28)(9, 25, 49, 24. 20, 48, 62, 47)(10, 43, 32, 60, 31,59, 11, 44). (1,5.7,21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 20, 50)(11, 30, 32, 52) (13, 33, 35. 54)(15. 36, 38, 56)(18, 39, 41, 57)(23, 43, 45, 59)(25. 46. 48, 61)(28, 49, 51, 62)(34, 53, 55, 63) (44. 58, 60, 64)]) = C8 x C2
Pas = Group([(1,7)(2,12)(3, 16) (4, 19)(5,21)(6, 22) (8, 26)(9, 20)(10, 31)(11, 32)(13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22) (8, 25)(9, 28) (10, 30)(12, 32) (13, 34)(14 36(16,38)(17, 39)(19, 41)(21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1,3, 5, 14, 7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56) (9, 23, 27, 43, 29, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61) (18, 34, 39, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64, (1,5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42) (8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 59) (25, 46, 48, 61) (28, 49, 51, 62)(34, 53, 55, 63) (44, 58, 60, 64)]) = C8 x C2
Por = Group([(1.7)(2,12)(3, 16)(4, 19)(5, 21)(6, 22)(8. 26)(9. 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42)(23, 45) (24, 47)(25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56)(39, 57)(43, 50) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64). (1. 6)(2. 11)(3. 15)(4, 18) (5, 20)(7, 22)(8. 25)(9, 28)(10, 30)(12, 32)(13, 34)(14, 36) (16, 38)(17, 39)(19, 41)(21, 42)(23, 44) (24, 46)(26, 48)(27, 49)(29, 51)(31, 52) (33, 53)(35, 55 (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64). (1, 25, 39, 43, 22, 26 40, 64)(2, 34, 49, 36, 32, 35, 50, 37)(3, 10, 53, 51, 38, 52, 54, 0)(4, 44, 5, 46, 41, 45, 42, 47)(6, 8, 17, 58, 7, 48, 57, 59)(11, 13, 27, 14, 12, 55, 62, 56) (15, 30. 33, 20, 16, 31, 63, 28)(18, 23,20, 24. 19, 60. 21, 61, (1, 17, 22, 57)(2, 27, 32, 62)(3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18) (6, 39, 7, 40)(8, 43, 48, 64)(9. 30, 51, 31)(10, 20, 52, 28)(11, 49, 12, 50) (13, 36, 55, 37) (14, 35, 56, 34)(15, 53. 16, 54)(23, 46, 60, 47) (24, 45, 61, 44)(25, 58, 26. 59)]) = C8 x C2
Pas = Group([(1,7)(2,12)(3, 16)(4, 19)(5, 21)(6, 22)(8. 26)(9. 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56 (39, 57 (43, 50) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64). (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8. 25)(9, 28) (10, 30)(12, 32) (13, 34) (14, 36) (16, 38) (17, 39)(19, 41)(21, 42)(23, 44 (24, 46)(26, 48)(27, 49)(29, 51)(31, 52)(33, 53)(35, 55) (37, 56)(40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64). (1. 5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59)(25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63)(44, 58, 60, 64), (1, 4,6, 18)(2,9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64)]) = C4 x C4
Pao = Group([(1.7)(2,12)(3, 16)(4, 19)(5, 21)(6, 22)(8. 26)(9, 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56)(39, 57)(43, 50) (44, 60) (46, 61)(49, 62) (53, 63)(58, 64). (1, 6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22)(8. 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39)(19, 41)(21, 42)(23, 44) (24, 46 (26, 48)(27, 49)(29, 51)(31, 52)(33, 53)(35, 55)(37, 56)(40, 57)(43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1, 44, 17, 24, 22, 45, 57, 61)(2, 3, 27, 33, 32, 38, 62, 63) (4, 8, 20, 43, 41, 48, 21, 64) (5, 58, 19, 26, 42, 59, 18, 25)(6, 23, 39, 46, 7, 60, 40, 47)(9, 13, 30, 36, 51, 55, 31, 37)(10, 14, 29, 35, 52, 56, 28, 34)(11, 15, 49, 53, 12, 16, 50, 54), (1, 17, 22, 57)(2, 27, 32, 62) (3, 33, 38, 63) (4, 20, 41, 21) (5, 19, 42, 18)(6, 39, 7, 40)(8, 43, 48, 64)(9, 30, 51, 31)(10, 29, 52, 28)(11, 49, 12, 50)(13, 36, 55, 37) (14, 35, 56, 34)(15, 53, 16, 54)(23, 46, 60, 47) (24, 45, 61, 44)(25, 58, 26, 59)]) = C& x C2
Pyo = Group([(1,7)(2,12)(3, 16)(4, 19) (5, 21)(6, 22)(8. 26)(9, 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56)(39, 57)(43, 50) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15) (4, 18)(5, 20) (7, 22)(8, 25)(9, 28)(10, 30)(12, 32)(13, 34) (14, 36)(16, 38)(17, 39)(19, 41)(21, 42)(23, 44) (24, 46)(26, 48)(27, 49 (29, 51)(31, 52) (33, 53)(35, 55 (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1, 5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52)(13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 59)(25, 46, 48, 61) (28, 49, 51, 62) (34, 53, 55, 63) (44, 53, 60, 64), (1, 4, 6, 18)(2,9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49)(12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1,2, 4,9, 6, 11, 18, 28)(3, 25, 13, 44, 15, 8, 34, 23) (5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 29, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45)(21, 31, 40, 50, 42, 52, 57, 62)(37, 61, 54, 64, 56, 47, 63, 59)]) = C8 x C4
Py = Group([(1,7)(2,12)(3,16) (4, 19)(5, 21)(6, 22) (8, 26)(9, 20)(10, 31)(11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51) (30, 52) (33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22) (8, 25)(9, 28) (10, 30)(12, 32) (13, 34) (14, 36)(16 38)(17,39)(19, 41)(21, 42)(23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 0)(47 61)(50,62) (54, 63)(59, 64), (1,5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40) (6, 20, 22, 42) (8, 24, 26, 47)(9, 27, 29, 50) (11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 59) (25, 46, 48, 61) (28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1,4, 6, 18)(2,9, 11, 28)(3,13 15,34)(5, 17, 20, 39)(7, 19, 22 41)(8,23 25, 44)(10, 27,30, 49)(12, 20, 32, 51)(14, 33, 36, 53) (16, 35. 38, 55)(21, 40, 42, 57)(24, 43, 46, 58) (26, 45, 48, 60)(31. 50, 52. 62) (37, 54, 56, 63)(47. 59, 61, 64), (1, 25, 39, 43, 22, 26, 40, 64) (2, 34, 49, 36,32, 35, 50, 37)(3, 10, 53, 51, 38, 52, 54, 9) (4, 44, 5. 46, 41, 45, 42, 47)(6, 8, 17, 58, 7. 48, 57, 59) (11, 13,27, 14 12. 55. 62. 56)(15, 30, 33, 20, 16, 31, 63, 28)(18, 23, 20, 24, 19, 60, 21, 61)]) = C8 x C4
Py = Group([(1,7)(2,12) (3. 16)(4, 19) (5, 21)(6, 22)(8. 26)(9. 29)(10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40)(18, 41)(20, 42) (23, 45) (24, 47)(25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56)(39, 57)(43, 50) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64). (1, 6)(2. 11)(3. 15)(4, 18) (5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32)(13, 34) (14, 36) (16, 38)(17, 39)(19, 41)(21, 42)(23, 44)(24, 46)(26, 48)(27, 40)(29, 51)(31, 52) (33, 53)(35, 55 (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64). (1. 5, 7. 21)(2, 10, 12, 31)(3. 14, 16, 37) (4. 17. 19, 40)(6, 20, 22. 42)(8, 24, 26, 47)(9. 27. 29, 50)(11, 30, 32, 52)(13. 33, 35. 54) (15, 36, 38, 56 (18, 39, 41, 57) (23, 43, 45, 59)(25., 46, 48, 61) (28,49, 51, 62) (34, 53, 55. 63)(44. 53, 60, 64), (1, 4.6, 18)(2,9, 11, 28)(3. 13, 15, 34)(5. 17, 20, 39)(, 19, 22. 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32. 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58)(26, 45, 48, 60)(31. 50. 52, 62) (37, 54. 56, 63) (47,59, 61,64). (1.3, 5, 14,7, 16, 21. 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 29, 45, 50, 59) (11, 25. 30, 46, 32, 48, 52, 61)(18, 34, 39, 53, 41, 55. 57, 63)(28, 44, 49, 58. 51 60, 62, 64)]) = C8 x C4
Py = Group([(1,7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8. 26)(9., 29)(10, 31)(11, 32)(13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42)(23, 45) (24, 47) (25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56)(39, 57)(43, 50) (44, 60)(46, 61)(49, 62) (53, 63) (58, 64). (1, 6)(2, 11)(3. 15)(4, 18) (5, 20)(7, 22)(8. 25)(9, 28) (10, 30)(12, 32)(13, 34) (14, 36) (16, 38)(17, 39)(19, 41)(21, 42)(23, 44) (24, 46 (26, 48)(27, 49)(29, 51)(31, 52)(33, 53)(35, 55)(37, 56)(40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64). (1. 5, 7. 21)(2, 10, 12, 31)(3. 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27. 29, 50)(11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56 (18, 39, 41, 57)(23, 43, 45, 59)(25. 46, 48, 61) (28, 49, 51, 62)(34, 53, 55. 63)(44. 58, 60, 64), (1, 4, 6, 18)(2,9, 11, 28)(3, 13, 15, 34)(5. 17, 20, 39)(7, 19, 22. 41)(8, 23, 25, 44)(10, 27, 30, 49)(12. 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55)(21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31,50, 52, 62) (37, 54. 56, 63) (47. 59, 61, 64). (1.3, 5. 14.7, 16,21, 37)(2, 8, 10, 24,12, 26, 31, 47)(4, 13,17, 33, 19, 35. 40, 54) (6, 15, 20, 36, 22. 38, 42, 56)(9, 23, 27, 43, 29, 45, 50, 50) (11, 25, 30. 46, 32, 48, 52, 61)(18, 34, 30, 53. 41, 55. 57, 63) (28, 44, 49, 58, 51. 60, 62, 64, (1, 2,4, 9,6, 11, 18, 28)(3, 25, 13, 44, 15,8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 20, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59)]) = C8 :
Ny = Group([(1,2,4,9,6, 11,18, 28)(3, 25, 13, 44, 15, 8, 34, 23) (5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 29, 22, 32, 41, 51) (14, 46, 33, 58, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59), (L, 3, 5, 14,7, 16, 21, 37) (2, 8, 10, 24, 12, 26, 31, 47) (4, 13, 17, 33, 19, 35, 40, 54)(6, 15, 20, 36, 22, 38, 42, 56) (9, 23, 27, 43, 20, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 30, 53, 41, 55, 57, 63)(28, 44, 49, 58, 51, 60, 62, 64), (1,4, 6, 18)(2,9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55)(21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62)(37, 54, 56, 63) (47, 59, 61, 64), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50)(11, 30, 32, 52)(13, 33, 35, 54) (15, 36, 38, 56) (18, 30, 41, 57) (23, 43, 45, 59) (25, 46, 48, 61) (28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (L, 6)(2, 11)(3, 15) (4, 18) (5, 20)(7, 22) (8, 25)(9, 28)(10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42)(23, 44) (24, 46)(26, 48) (27, 49) (29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60)(47,61)(50,62)(54, 63)(59, 64), (1,7)(2, 12)(3, 16)(4, 19)(5, 21) (6, 22) (8, 26) (9, 29) (10, 31) (11, 32)(13, 35)(14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45)(24, 47) (25, 48) (27, 50)(28, 51) (30, 52) (33, 54) (34, 55) (36, 56)(39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64)]) = (C8 :
— Group([(1,2,4,9,6,11,18, 28)(3, 25, 13, 44, 15, 8, 34, 23) (5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 29, 22, 32, 41, 51) (14, 46, 33, 58, 36, 24, 53, 43)(16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59), (1,3, 5, 14, 7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47) (4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 29, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61) (18, 34, 39, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64), (1, 4, 6, 18)(2,9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 30)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62)(37, 54, 56, 63) (47, 59, 61, 64), (1,5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40) (6, 20, 22, 42) (8, 24, 26, 47)(9, 27, 29, 50) (11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61) (28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1,6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22) (8, 25)(9, 28) (10, 30)(12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16) (4, 19) (5, 21)(6, 22)(8, 26)(9, 29)(10, 31)(11, 32)(13, 35)(14, 37) (15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52)(33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64)]) == (C8
Ny = Group([(1,2,4.9.6, 11,18, 28)(3.25. 13, 44. 15. 8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 40)(7, 12, 19,20, 22. 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52. 57, 62)(37, 61, 54, 64. 56, 47, 63, 59), (1.3.5. 14. 7, 16,21, 37)(2, 8, 10, 24, 12, 26. 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 20, 45, 50, 50)(11, 25, 30, 46, 32, 48, 52, 61) (18, 34, 39, 53, 41, 55, 57, 63) (28, 44. 49, 58. 5160, 62, 64). (1.4, 6. 18)(2.9, 11, 28)(3, 13, 15, 34)(5. 17, 20, 30) (7. 19, 22. 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 20, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62)(37, 54, 56, 63)(47, 59, 61, 64). (1, 5.7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50) (11, 30, 32, 52) (13, 33, 35. 54)(15, 36, 38, 56)(18, 39, 41, 57) (23, 43, 45, 59)(25. 46, 48, 61)(28, 49, 51, 62)(34, 53, 55, 63) (44. 53, 60, 64), (1, 6)(2, 11)(3. 15)(4. 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32) (13, 34)(14, 36) (16, 38) (17, 30)(19, 41)(21, 42) (23, 44)(24. 46) (26, 48) (27, 49)(29. 51)(31, 52)(33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60)(47,61)(50,62)(54,63)(59,64),(1,7)(2,12)(3,16)(4, 19)(5,21)(6, 22)(8, 26)(9, 29) (10, 31)(11, 32) (13, 35)(14, 37)(15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52)(33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64)]) = (CS :
Ny = Group([(1,2,4,9,6, 11, 18, 28)(3, 25, 13, 44, 15,8, 34, 23) (5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19,29,22,32,41,51)(14746733758736,24,53,43)(16,48,35,60,38,26,55,45)(217 31,40, 50,42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59), (1, 3, 5, 14, 7, 16,21, 37) (2, 8, 10, 24, 12, 26, 31, 47) (4, 13, 17, 33, 19, 35, 40, 54) 6, 15, 20 36,22, 38, 42 56)(9,2 3,27, 43,29, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 39, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64), (1, 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39)(7, 19, 22, 41) (8, 23, 25, 44) (10, 27, 30, 49)(12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64), (1, 5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42) (8, 24, 26, 47)(9, 27, 29, 50) (11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 59) (25, 46, 48, 61) (28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32)(13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64, (1, 7)(2, 12)(3, 16)(4, 19) (5, 21) (6, 22)(8, 26)(9, 29)(10, 31)(11, 32)(13, 35)(14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48) (27, 50)(28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64)]) = (CS
— Group([(1,6)(2, 11)(3, 15)(4, 18)(5, 20) (7, 22)(8, 25)(9, 28)(10, 30)(12, 32)(13, 34)(14, 36)(16, 38)(17, 30)(19, 41)(21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63)(59, 64), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 29(10, 31)( 1,32)(13, 35)(14, 37)(15, 38) (17, 40) (18, 41)(20, 42)(23, 45) (24, 47)(25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64). (1, 2,4, 9,6, 11, 18, 28)(3, 25, 13, 44, 15, 8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 20, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52. 57, 62) (37, 61, 54, 64, 56, 47, 63, 59), (1,3, 5, 14, 7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47) (4, 13, 17, 33, 19, 35, 40, 54)(6, 15, 20, 36, 22, 38, 42, 56) (9, 23, 27, 43,20, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 39, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64)]) = 8 : C8
N6 Group([(1,4,6,18)(2,9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 20, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55)(21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54. 56, 63) (47, 59, 61, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41)(21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 53) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 2,4, 9,6, 11, 18, 28)(3, 25, 13, 44, 15, 8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 20, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59), (1,3, 5, 14, 7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47) (4, 13, 17, 33, 19, 35, 40, 54)(6, 15, 20, 36, 22, 38, 42, 56) (9, 23, 27, 43, 20, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61) (18, 34, 39, 53, 41, 55, 57, 63)(28, 44, 49, 58, 51, 60, 62, 64)]) = C8 : C8
— Group([(1,19,6,41)(2,29, 11,51)(3, 35, 15, 55) (4, 22, 18, 7)(5, 40, 20, 57)(8, 45, 25, 60) (9, 32, 28, 12)(10, 50, 30, 62) (13, 38, 34, 16)(14, 54, 36, 63)(17, 42, 39, 21)(23, 48, 44, 26)(24. 59. 46, 64)(27, 52, 49, 31)(33. 56, 53, 37) (43, 61. 58, 47), (1. 6)(2, 11)(3. 15)(4, 18)(5. 20)(7, 22)(8, 25)(9. 28)(10, 30)(12. 32)(13. 34)(14, 36)(16, 38) (17, 39)(19, 41)(21, 42) (23, 44)(24. 46) (26, 48)(27. 49)(29. 51)(31, 52)(33, 53) (35, 55) (37, 56) (40, 57) (43, 53) (45. 60)(47, 61)(50, 62) (54, 63)(59. 64). (1.2.4.9.6, 11, 18, 28)(3. 25. 13. 44. 15. 8, 34, 23) (5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19,20, 22. 32. 41, 51)(14, 46, 33, 58, 36, 24, 53, 43) (16, 48 35, 60, 38, 26, 55, 45) (21, 31. 40, 50, 42. 52. 57. 62) (37, 61,54, 64,56, 47, 63.59). (1.3.5. 14.7. 16,21, 37)(2, 8. 10, 24. 12. 26. 31. 47)(4, 13, 17, 33, 19, 35. 40, 54)(6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 20, 45, 50, 50) (11, 25. 30, 46, 32, 48, 52, 61) (18, 34. 39, 53. 41. 5. 57. 63) (28, 44. 49, 58, 51,60, 62, 64)]) = C8 : 8
= Group([(1,5,7,21)(2,10,12,31)(3, 14, 16, 37)(4 17,19, 40)(6, 20, 22,42)(8, 24, 26,47)(9, 27,29, 50)(11, 30, 32, 52)(13, 33, 35, 54)(15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62)(34, 53, 55, 63) (44, 58, 60, 64), (1,7)(2,12)(3, 16)(4,19)(5,21)(6, 22)(8, 26)(9,29)(10, 31)(11, 32)(13, 35)(14,37)(15,38)(17,40)(18,41)(20,42)(23, 45)(24, 47)(25, 48)(27,50)(28, 51)(30, 52) (33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1, 2,4,9,6, 11, 18,28)(3, 25, 13,44, 15,8, 34, 23)(5, 10, 17,27, 20, 30, 39,49)(7, 12, 19, 29, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43)(16, 48, 35, 60, 38, 26, 55, 45)(21, 31,40, 50, 42, 52,57, 62) (37,61, 54, 64, 56,47, 63, 59), (1, 3,5, 14, 7,16, 21, 37)(2, 8, 10, 24, 12, 26, 31,47)(4, 13,17, 33, 19, 35, 40, 54)(6, 15, 20, 36, 22, 38,42, 56)(9, 23, 27,43, 29, 45, 50, 59) (11, 25, 30, 46, 32,48, 52, 61) (18, 34, 39, 53,41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64)]) = C8 : C8
= Group([(1,2 42)(2, 30, 12,52)(3, 36, 16,56)(4, 39,19, 57)(5,22,21,6)(8, 46, 26,61)(9, 49, 29, 62)(10, 32,31, 11)(13,53, 35,63)(14, 38,37, 15)(17, 41,40, 18)(23, 58,45, 64)(24, 48,47, 25)(27, 51, 50, 28)(33, 55, 54, 34) (43, 60, 59, 44), (1, 7)(2, 12)(3, 16)(4, 19) (5, 21)(6, 22)(8, 26)(9, 29)(10, 31)(11, 32)(13, 35) (14, 37)(15, 38)(17,40)(18,41)(20, 42)(23,45)(24, 47)(25, 48)(27, 50) (28, 51)(30, 52)(33, 54)(34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62)(53,63)(58,64), (1,2,4,9,6, 11, 18,28)(3, 25, 13,44, 15, 8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 29, 22, 32,41, 51)(14, 46, 33, 58, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45)(21, 31, 40, 50, 42, 52, 57, 62) (37,61, 54, 64, 56, 47, 63, 59), (173,5 14,7,16,21,37)(2,8,10,24,12,26,31,47)(4,13,17, 33,19, 35, 40, 54)(6, 15, 20, 36, 22, 38,42, 56)(9, 23, 27, 43, 29,45, 50, 59) (11, 25, 30, 46, 32, 48,52, 61)(18, 34, 39, 53,41, 55, 57, 63)(28, 44, 49, 58,51, 60, 62, 64)]) = C8 : C8
Nm — Group(|(1, 17,22, 57)(2, 27, 32, 62)(3, 33, 38, 63)(4, 20, 41, 21)(5, 19, 42, 18)(6, 39, 7, 40)(8, 43, 48, 64)(9, 30, 51, 31)(10, 29, 52, 28) (11, 49, 12, 50)(13, 36, 55, 37) (14, 35, 56, 34) (15, 53, 16, 54) (23, 46, 60, 47) (24, 45, 61, 44)(25, 58, 26, 59), (1, 22)(2, 32)(3, 38)(4, 41)(5, 42) (6, 7)(8, 48)(9, 51)(10, 52)(11, 12)(13, 55) (14, 56)(15, 16)(17, 57)(18, 19)(20, 21)(23, 60)(24, 61)(25, 26)(27, 62)(28, 29)(30, 31)(33, 63) (34, 35) (36, 37) (39, 40) (43, 64) (44, 45) (46, 47) (49, 50) (53, 54) (58, 59), (1, 2, 4,9, 6, 11, 18, 28)(3, 25, 13, 44, 15, 8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 20, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56,47, 63, 59), (1,3, 5, 14, 7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47) (4, 13, 17, 33, 19, 35, 40, 54)(6, 15, 20, 36, 22, 38, 42, 56) (9, 23, 27, 43, 20, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 39, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64)]) = C8 : C8
Nir = Group([(1, 39,22, 40)(2, 49, 32, 50)(3. 53, 38, 54)(4. 5, 41, 42) (6, 17,7, 57)(8, 58, 48, 50)(9, 10, 51, 52) (11, 27,12, 62)(13, 14, 55. 56)(15. 33, 16, 63) (18, 20, 19, 21)(23, 24, 60, 61)(25, 43, 26, 64)(28, 30, 29, 31) (34, 36, 35, 37)(44, 46, 45, 47), (1, 22)(2, 32) (3, 38) (4, 41)(5, 42)(6, 7)(8, 48)(9, 51)(10, 52)(11, 12) (13, 55) (14, 56)(15, 16)(17, 57)(18, 19)(20, 21)(23, 60)(24. 61)(25. 26)(27, 62) (28, 20)(30. 31) (33, 63)(34. 35)(36 37)(39, 40) (43, 64) (44, 45) (46, 47)(49, 50) (53, 54) (58, 59), (1,2, 4,9, 6,11, 18, 28)(3, 25, 13, 44, 15, 8, 34 23)(5, 10, 17, 27, 20, 30, 39, 49)(7 12,19,29, 22,32, 41,51)(14, 46, 33, 58, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31. 40, 50, 42, 52. 57, 62)(37, 61, 54, 64, 56, 47, 63, 59), (1.3, 5, 14, 7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6. 15, 20, 36, 22, 38, 42, 56) (9, 23, 27, 43, 20, 45. 50, 59) (11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 39, 53. 41, 55, 57, 63)(28, 44. 49, 58, 51. 60, 62, 64)]) = C8 : C8
Nis = Group([(1,4,6,18)(2,9, 11, 28)(3, 13, 15, 34) (5, 17. 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53)(16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60)(31, 50, 52, 62) (37. 54, 56, 63) (47, 59, 61, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32) (13, 34)(14, 36)(16, 38)(17, 39) (19, 41)(21, 42) (23, 44) (24, 46) (26, 43)(27, 49)(29. 51)(31, 52) (33, 53)(35. 55) (37, 56) (40, 57) (43, 53) (45, 60) (47, 61)(50, 62) (54, 63)(59, 64), (1, 7)(2, 12)(3, 16) (4, 19)(5, 21)(6, 22)( 26)(9,20)(10,31)(11,32)(13, 35) (14, 37) (15, 38) (17, 40) (18, 41)(20, 42) (23, 45) (24, 47) (25, 48)(27, 50)(28, 51)(30, 52)(33, 54) (34, 55)(36, 56) (39, 57) (43, 59) (44, 60)(46, 61)(49, 62)(53, 63)(58, 64), (1,2, 4, 9.6, 11, 18, 28)(3, 25, 13, 44, 15, 8, 34, 23)(5, 10, 17,27, 20, 30, 39, 49)(7, 12, 19, 20, 22, 32, 41, 51) (14, 46, 33, 58, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59), (1,3, 5, 14,7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 29, 45, 50, 50) (11, 25, 30, 46, 32, 48,52, 61)(18, 34, 3, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64)]) = C8 : C8
Nis = Group([(1.5,7,21)(2, 10,12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42) (8, 24, 26, 47)(9. 27. 29, 50) (11, 30. 32. 52)(13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23. 43, 45. 59) (25, 46, 48, 61) (28,49, 51, 62)(34. 53. 5. 63)(44, 58, 60, 64). (1.6)(2, 11)(3, 15)(4, 18)(5. 20)(7. 22)(8. 25)(9, 28) (10, 30) (12, 32)(13, 34) (14, 36) (16, 38)(17, 30)(19, 41) (21, 42)(23, 44)(24, 46) (26, 48)(27, 49)(20, 51)(31. 52)(33. 53)(35. 55) (37, 56 (40, 57) (43, 58) (45, 60 (47, 61) (50, 62) (54, 63)(59, 64). (1, 7)(2, 12)(3. 16)(4, 19)(5, 21)(6, 22)(8. 26)(9. 20) (10, 31)(11, 32) (13, 35) (14, 37)(15, 38)(17. 40) (18, 41)(20, 42) (23, 45) (24, 47)(25. 43)(27, 50)(28. 51)(30, 52)(33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44 60) (46, 61)(49, 62) (53, 63) (53, 64), (1.2, 4.9, 6. 11, 18, 28)(3, 25, 13, 44, 15.8, 34, 23)(5. 10, 17, 27,20, 30. 39, 49)(7. 12, 19, 29. 22. 32. 41, 51) (14, 46, 33, 58, 36, 24. 53, 43)(16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57. 62) (37, 61, 54. 64. 56, 47, 63, 59), (1.3, 5. 14,7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47) (4, 13, 17, 33, 19, 35, 40, 54)(6, 15, 20, 36, 22, 38, 42, 56)(9. 23. 27, 43. 20, 45. 50, 59)(11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 39, 53, 41, 55, 57, 63) (28, 44. 49, 58. 51. 60, 62, 64)]) = C8 : C8
Nt = Group([(1,17,22,57)(2, 27,32, 6 )(3733738,63)(4,20,41,2 )(5,19, 42, 18)(6, 39, 7, 40)(8, 43, 48, 64)(9, 30, 51, 31)(10, 29, 52, 28)(11, 49, 12, 50) (13, 36, 55, 37) (14, 35, 56, 34) (15, 53, 16, 54) (23, 46, 60, 47) (24, 45, 61, 44) (25, 58, 26, 59), (1, 6)(2, 11)(3, 15) (4, 18) (5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32)(13, 34)(14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46)(26, 48) (27, 49)(29, 51)(31, 52)(33, 53)(35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16) (4, 19)(5, 21)(6, 22)(8, 26)(9, 20)(10, 31)(11, 32)(13, 35)(14, 37) (15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62)(53, 63) (58, 64), (1, 2,4, 9,6, 11, 18, 28)(3, 25, 13, 44, 15, 8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49) (7, 12, 19, 29, 22, 32, 41, 51) (14, 46, 33, 53, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59), (1, 3, 5, 14, 7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47) (4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 29, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 39, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64)]) = C8 : C8
Nis = Group([(1.2,4,9, 6, 11, 18, 28)(3, 25, 13, 44, 15,8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 29. 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43)(16, 48, 35, 60, 38, 26, 55, 45)(21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59), (1, 4, 6, 18)(2,9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47. 59, 61, 64), (1, 6)(2, 11)(3, 15) (4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32)(13, 34) (14, 36) (16, 38) (17, 39) (19, 41)(21, 42)(23, 44)(24, 46) (26, 48)(27, 49)(29, 51)(31, 52)(33, 53)(35, 55 (37, 56) (40, 57)(43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1,3, 5, 14,7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 29, 45, 50, 50)(11, 25, 30, 46, 32, 48,52, 61)(18, 34, 30, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64)]) = C8 : 8
Nio = Group(((1,12,4,29, 6,32, 18,51)(2, 19,9, 22, 11, 41, 28, 7)(3, 48, 13, 60, 15, 26, 34, 45)(5, 31, 17, 50, 20, 52, 39, 62) (8, 55, 23, 16, 25, 35. 44, 38)(10, 40, 27, 42, 30, 57, 49, 21) (14, 61, 33, 64, 36, 47, 53, 59) (24, 63, 43, 37, 46, 54. 53, 56), (1, 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34) (5. 17, 20, 39) (7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49)(12, 20, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57)(24. 43, 46, 58) (26, 45, 48, 60) (31, 50, 52. 62) (37, 54, 56, 63) (47, 59, 61, 64). (1. 6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22)(8. 25)(9. 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46 (26, 48) (27, 49)(29, 51)(31, 52)(33, 53)(35, 55) (37, 56)(40, 57)(43, 58)(45, 60) (47, 61)(50, 62) (54, 63)(59, 64), (1,2, 4.9, 6, 11, 18, 28)(3, 25. 13, 44, 15, 8, 34, 23) (5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19,29, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43)(16, 48, 35, 60, 38, 26, 55, 45)(21, 31,40, 50, 42, 52. 57, 62) (37, 61, 54, 64. 56, 47, 63. 59), (1,3, 5, 14,7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 20, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61) (18, 34,39, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64)]) = C8 : C8
Niz = Group([(1,31, 19,27, 6,52, 41,49)(2, 40, 29, 20, 11, 57, 51,5)(3, 61, 35, 58, 15, 47, 55, 43)(4, 50, 22, 30, 18, 62,7, 10) (8, 63, 45, 14, 25, 54, 60, 36)(9, 42, 32, 39, 28, 21, 12, 17)(13, 64, 38, 24, 34. 59. 16, 46) (23, 37, 48, 33, 44, 56, 26, 53), (1, 19, 6, 41)(2, 20, 11, 51)(3, 35, 15, 55) (4, 22, 18, 7)(5, 40, 20, 57)(8, 45, 25, 60) (9, 32, 28, 12)(10. 50, 30, 62) (13, 38, 34, 16)(14, 54, 36, 63)(17, 42, 39, 21)(23, 48, 44, 26 (24, 50, 46, 64)(27, 52, 49, 31) (33, 56, 53, 37) (43, 61,58, 47). (1. 6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22)(8. 25) (9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46 (26, 48) (27, 49)(29, 51)(31, 52)(33, 53) (35, 55) (37, 56)(40, 57)(43, 58)(45, 60) (47, 61)(50, 62) (54, 63)(59, 64), (1,2, 4.9, 6, 11, 18, 28)(3, 25, 13, 44, 15, 8, 34, 23) (5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 29, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43)(16, 48, 35, 60, 38, 26, 55, 45)(21, 31,40, 50, 42, 52. 57, 62) (37, 61, 54, 64, 56, 47, 63, 59). (1,3, 5. 14.7, 16, 21, 37)(2,8, 10, 24, 12, 26, 31, 47)(4. 13, 17, 33,19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42. 56)(9, 23, 27, 43, 20, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61) (18, 34,39, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51,60, 62, 64)]) = C8 : C8
Nis = Group([(1.3,5, 14, 7,16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 20, 45, 50, 59 (11, 25, 30, 46, 32, 48, 52, 61) (18, 34. 39, 53. 41, 55. 57. 63)(28. 44. 49, 53. 51. 60, 62. 64). (1.5, 7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8. 24. 26. 47)(9. 27. 29. 50)(11.30. 32, 52)(13, 33, 35, 54) (15, 36. 38, 56) (18, 39, 41. 57)(23, 43, 45, 50) (25, 46, 48, 61) (28, 49, 51. 62)(34. 53. 55. 63)(44, 58, 60, 64). (1, 7)(2.12)(3, 16)(4, 19)(5. 21)(6. 22)(8, 26)(9. 29) (10, 31)(11,32)(13, 35) (14, 37) (15, 38)(17, 40) (18, 41)(20, 42) (23, 45) (24, A7) (25. 48)(27, 50) (28, 51) (30, 52)(33. 54) (34, 55)(36. 56) (39, 57)(43, 50) (44, 60) (46, 61)(49. 62) (53, 63) (58, 64), (1, 4. 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32. 51) (14, 33, 36, 53)(16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 53)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64)]) = C8 x C4
Nig = Group([(1. 10, 19, 50,6, 30, 41, 62)(2, 17,29, 42, 11,39, 51, 21)(3, 46, 35. 64, 15, 24. 55, 59)(4, 27, 22, 52, 18, 49,7, 31)(5, 12, 40, 9, 20, 32, 57, 28) (8, 53, 45, 37, 25, 33, 60, 56) (13, 58, 38, 47, 34. 43, 16, 61) (14, 48, 54. 44. 36, 26, 63, 23). (1, 19, 6,41)(2, 20, 11,51)(3, 35, 15, 55)(4, 22, 18, 7)(5, 40, 20, 57)(8. 45. 25. 60) (9, 32. 28, 12)(10. 50, 30, 62) (13, 38, 34, 16) (14, 54. 36, 63) (17, 42, 39, 21)(23, 48, 44, 26)(24, 59, 46, 64) (27, 52, 49, 31)(33. 56. 53, 37) (43, 61, 58,47 (1,6)(2, 11)(3, 15)(4, 18)(5. 20) (7. 22)(8, 25)(9. 28) (10, 30)(12, 32)(13, 34) (14, 36) (16, 38)(17, 39) (19, 41) (21, 42)(23, 44) (24, 46) (26, 48)(27, 49)(29, 51) (31, 52)(33. 53)(35, 55 (37. 56) (40, 57)(43, 58) (45, 60) (47, 61)(50. 62) (54, 63) (59, 64), (1,2, 4.9, 6, 11, 18, 28)(3, 25, 13,44, 15, 8, 34, 23) (5, 10, 17, 27, 20, 30, 39, 49) (7, 12, 19, 29, 22, 32, 41, 51) (14, 46, 33, 53, 36, 24, 53, 43)(16, 48, 35, 60, 38, 26, 55, 45)(21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47. 63, 59), (1, 3, 5, 14,7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47) (4, 13, 17, 33, 19, 35, 40, 54)(6, 15, 20, 36, 22, 38, 42, 56) (9, 23, 27, 43, 29, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 39, 53, 41, 55, 57, 63)(28, 44, 49, 58, 51, 60, 62, 64)]) = C8 : C8
Noo = Group([(1, 13,20, 53,7, 35,42, 63)(2, 23, 30, 58, 12, 45, 52, 64) (3, 17, 36, 41, 16, 40, 56, 18) (4, 15, 39, 14, 19, 38, 57, 37) (5, 33, 22, 55, 21, 54, 6, 34) (8, 27, 46, 51, 26, 50, 61, 28) (9, 25, 49, 24, 29, 48, 62, 47)(10, 43, 32, 60, 31, 59, 11, 44), (1, 20,7, 42)(2, 30, 12, 52)(3, 36, 16, 56) (4, 39, 19, 57)(5, 22, 21, 6)(8, 46, 26, 61)(9, 49, 29, 62) (10, 32, 31, 11)(13, 53, 35, 63) (14, 38, 37, 15) (17, 41, 40, 18)(23, 58, 45, 64) (24, 48, 47, 25)(27, 51, 50, 28) (33, 55, 54, 34) (43, 60, 59, 44), (1, 7)(2, 12)(3, 16) (4, 19)(5, 21)(6, 22) (8, 26)(9, 29)(10, 31)(11, 32) (13, 35)(14,37)(15 38)(17, 40) (18, 41)(20, 42)(23, 45) (24, 47)(25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56 (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64). (1,3.5. 14,7, 16, 21, 37)(2, 8, 10, 24 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54)(6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 20. 45. 50, 59) (11, 25, 30, 46, 32. 48, 52. 61) (18, 34,39, 53, 41, 55. 57, 63) (28, 44, 49, 58, 51, 60, 62, 64)]) = C8 x C4
Noy = Group([(1,44, 17,24, 22, 45,57, 61) (2, 3, 27, 33, 32, 38, 62, 63) (4, 8, 20, 43, 41, 48, 21, 64)(5, 58, 19, 26, 42, 59, 18, 25)(6, 23, 39, 46, 7, 60, 40, 47)(9, 13, 30, 36, 51, 55, 31, 37)(10, 14, 20, 35, 52, 56, 28, 34) (11, 15, 49, 53, 12, 16, 50, 54), (1, 17, 22 57)(2 27,32, 62)(3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18) (6, 39, 7, 40)(8, 43, 48, 64)(9. 30, 51, 31) (10, 29, 52, 28)(11, 49, 12, 50)(13. 36, 55, 37) (14, 35, 56, 34) (15, 53, 16, 54)(23, 46, 60, 47) (24, 45, 61, 44) (25, 58, 26, 59). (1, 22)(2, 32)(3, 38) (4, 41)(5, 42) (6, 7)(8, 48)(9, 51)(10, 52)(11, 12)(13, 55)(14, 56) (15, 16)(17, 57)(18, 19)(20, 21)(23, 60) (24, 61)(25, 26) (27, 62) (28, 20)(30, 31)(33, 63) (34, 35) (36, 37) (39, 40) (43, 64) (44, 45) (46, 47) (49, 50) (53, 54) (58, 59). (1, 4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25. 44) (10, 27, 30, 40)(12, 20, 32, 51) (14, 33, 36, 53) (16, 35, 38, 55)(21, 40, 42, 57)(24, 43, 46, 58)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61, 64)]) = C8 x C4
Noo = Group([(1, 25,39, 43, 22, 26, 40, 64) (2, 34, 49, 36, 32, 35, 50, 37) (3, 10, 53, 51, 38, 52, 54, 9)(4 44,5, 46, 41,45, 42, 47)(6, 8, 17,58, 7, 48, 57, 50) (11, 13, 27, 14, 12, 55, 62, 56) (15, 30, 33, 20, 16, 31, 63, 28) (18, 23, 20, 24, 19, 60, 21, 61), (1, 39, 22, 40) (2, 49, 32, 50)(3, 53, 38, 54) (4, 5, 41, 42) (6, 17, 7, 57)(8, 58, 48, 59)(9, 10, 51, 52)(11, 27, 12, 62) (13, 14, 55, 56 (15, 33, 16, 63)(18, 20, 19, 21)(23, 24. 60, 61)(25, 43, 26, 64)(28, 30, 20, 31)(34. 36, 35, 37) (44, 46, 45, 47). (1, 22)(2. 32)(3,38)(4, 41)(5, 42)(6, 7)(8, 48)(9, 51) (10, 52) (11, 12) (13, 55) (14, 56) (15, 16)(17, 57) (18, 19)(20, 21)(23, 60) (24, 61) (25, 26 (27, 62) (28, 29) (30, 31) (33, 63) (34, 35) (36, 37) (39, 40)(43, 64) (44, 45)(46, 47)(49, 50 (53, 54) (58, 59). (1.4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34) (5. 17, 20, 30) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53)(16. 35, 38, 55) (21, 40, 42, 57)(24, 43, 46, 58)(26, 45. 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64)]) = C8 x C4
Nos = Group([(1.2,4,9, 6, 11, 18, 28)(3, 25, 13, 44, 15, 8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 20, 22. 32. 41. 51)(14, 46, 33, 58, 36, 24. 53, 43)(16, 48, 35, 60, 38, 26, 55, 45) (21, 31. 40, 50, 42. 52. 57. 62) (37, 61. 54. 64. 56. 47, 63. 59). (1.4, 6, 18)(2,9, 11, 28)(3, 13, 15. 34)(5, 17. 20, 39) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27. 30, 49)(12. 20, 32. 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42. 57)(24, 43, 46, 58)(26, 45, 48, 60) (31 50, 52, 62)(37. 54. 56, 63)(47, 59, 61, 64). (1,6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8. 25)(9. 28) (10, 30)(12, 32)(13, 34) (14, 36) (16, 38)(17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49)(29, 51)(31. 52)(33. 53) (35, 55)(37. 56) (40, 57)(43, 58) (45, 60) (47, 61)(50. 62) (54, 63) (59, 64), (1. 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 20)(10, 31)(11, 32) (13, 35) (14, 37)(15, 38) (17, 40) (18, 41)(20, 42)(23, 45) (24, 47)(25, 48)(27, 50)(28, 51)(30, 52) (33, 54) (34, 55) (36, 56)(39, 57) (43, 59) (44, 60)(46, 61)(49, 62) (53, 63) (58, 64), (1,3, 5, 14,7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 20, 45, 50, 50 (11, 25, 30, 46, 32, 48, 52, 61) (18, 34, 39, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64)]) = C8 : 8
Now = Group([(1, 10, 19, 50, 6,30, 41, 62)(2, 17,29, 42, 11,39, 51, 21)(3, 46, 35, 64, 15, 24, 55. 59)(4, 27, 22, 52, 18,49, 7, 31)(5, 12, 40, 9, 20, 32, 57, 28) (8, 53, 45, 37, 25, 33, 60, 56 (13, 58, 38, 47, 34, 43, 16, 61) (14, 48, 54. 44. 36, 26. 63, 23). (1, 19, 6,41)(2, 20, 11,51)(3, 35, 15, 55)(4, 22, 18, 7)(5, 40, 20, 57)(8, 45, 25, 60) (9, 32, 28, 12)(10. 50, 30, 62) (13, 38, 34, 16)(14, 54. 36, 63) (17, 42, 39, 21)(23, 48, 44, 26) (24, 59, 46, 64) (27, 52, 49, 31)(33. 56. 53, 37)(43, 61, 58,47 (1,6)(2, 11)(3, 15)(4, 18)(5. 20) (7, 22)(8, 25)(9. 28) (10, 30)(12, 32)(13, 34) (14, 36) (16, 38)(17, 39) (19, 41) (21, 42)(23, 44) (24, 46) (26, 48) (27, 49)(29, 51) (31, 52)(33. 53)(35, 55 (37. 56) (40, 57)(43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2. 12)(3, 16)(4, 19)(5, 21)(6, 22)(8. 26) (9. 20)(10, 31)(11, 32) (13, 35) (14, 37)(15, 38) (17, 40) (18, 41)(20, 42)(23, 45) (24, 47)(25. 48) (27, 50)(28, 51)(30. 52) (33, 54) (34 55) (36, 56)(39, 57)(43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64). (1.2, 4.9, 6, 11, 18, 28)(3, 25. 13, 44, 15. 8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 20, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24. 53, 43)(16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52. 57. 62) (37, 61. 54. 64. 56. 47, 63, 59), (1, 3 5 14,7,16,21,37)(2, 8, 10,24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56) (9, 23, 27, 43, 29, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61) (18, 34, 30, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64)]) = C8 : C8
Nas = Group([(1, 13,20, 53,7, 35. 42, 63) (2, 23, 30, 58, 12, 45, 52, 64)(3. 17, 36, 41, 16, 40, 56, 18)(4. 15,39, 14, 19, 38. 57, 37)(5, 33, 22, 55, 21, 54, 6, 34)(8, 27, 46, 51, 26, 50, 61, 28)(9, 25, 49, 24. 20, 48, 62, 47)(10, 43, 32, 60, 31, 59, 11, 44). (1,20, 7. 42)(2, 30, 12, 52)(3, 36, 16, 56)(4. 39, 19, 57)(5, 22, 21, 6)(8., 46, 26, 61)(9, 49. 20, 62) (10, 32, 31, 11)(13. 53, 35, 63)(14, 38, 37, 15)(17, 41, 40, 18) (23, 58, 45, 64) (24, 48, 47, 25)(27. 51. 50, 28) (33, 55. 54, 34)(43, 60, 59, 44). (1. 6)(2. 11)(3, 15)(4. 18)(5, 20) (7, 22) (8, 25)(9, 28)(10, 30)(12, 32)(13, 34)(14, 36)(16, 38)(17, 30)(19, 41)(21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60)(47, 61)(50. 62) (54, 63)(59. 64). (1. 7)(2, 12)(3, 16)(4. 19) (5, 21)(6, 22) (8. 26)(9, 20)(10, 31)(11,32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42) (23, 45) (24, 47) (25, 48)(27, 50)(28. 51)(30. 52) (33, 54)(34. 55)(36. 56)(39. 57)(43. 59)(44. 60) (46, 61)(49. 62)(53. 63)(58. 64), (1.2.4,9. 6, 11, 18, 28)(3. 25, 13, 44, 15. 8, 34, 23)(5. 10, 17. 27,20, 30, 30, 49)(7. 12, 19, 20, 22. 32. 41, 51) (14, 46, 33, 58, 36, 24. 53, 43)(16, 48, 35. 60, 38, 26, 55. 45)(21. 31 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 50)]) = C8 : C8
Nas = Group([(1,3,5, 14,7, 16,21, 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54)(6, 15, 20, 36, 22. 38, 42. 56)(9, 23, 27, 43, 29. 45, 50, 50)(11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 30, 53. 41, 5. 57. 63) (28, 44, 49, 58, 51. 60, 62, 64), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40) (6, 20, 22, 42)(8. 24. 26, 47)(9, 27,29, 50) (11, 30, 32, 52) (13, 33, 35, 54)(15, 36, 38, 56)(18. 39, 41, 57)(23, 43, 45, 59 (25, 46, 48, 61)(28, 49, 51, 62)(34. 53, 55, 63) (44, 58, 60, 64). (1. 6)(2, 11)(3, 15)(4, 18) (5, 20)(7, 22)(8. 25)(9, 28)(10, 30)(12, 32) (13, 34) (14, 36) (16, 38)(17, 39)(19, 41)(21, 42)(23, 44)(24, 46)(26, 48)(27, 49 (29, 51)(31, 52)(33, 53)(35, 55)(37, 56)(40, 57)(43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1. 7)(2. 12)(3. 16)(4, 19)(5, 21)(6, 22)(8, 26)(9, 20)(10, 31)(11, 32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42)(23, 45)(24, 47)(25, 48)(27, 50 (28, 51)(30, 52) (33, 54) (34, 55 (36, 56) (39, 57) (43, 50) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64). (1,2, 4.9, 6, 11, 18, 28)(3, 25. 13, 44, 15, 8, 34.23) (5, 10, 17, 27, 20, 30, 39, 40)(7, 12, 19, 29, 22, 32, 41, 51)(14. 46, 33, 58, 36, 24, 53, 43)(16, 48, 35. 60, 38, 26, 55, 45)(21, 31, 40, 50, 42, 52. 57, 62)(37, 61, 54, 64. 56, 47, 63, 59)]) = CS 8
Nz = Group([(1, 25,39, 43,22, 26, 40, 64)(2, 34, 49, 36, 32, 35, 50, 37)(3, 10, 53, 51, 38, 52, 54, 9)(4, 44, 5, 46, 41, 45, 42, 47)(6, 8, 17, 58, 7, 48, 57, 59)(11, 13, 27, 14. 12, 55, 62, 56) (15, 30, 33, 20, 16, 31 63, 28) (18, 23, 20, 24, 19, 60, 21, 61), (1, 39, 22, 40)(2, 49, 32, 50 (3, 53, 38, 54) (4, 5, 41, 42)(6, 17, 7, 57)(8. 58, 48, 59)(9, 10, 51, 52) (11, 27, 12, 62) (13, 14, 55, 56)(15, 33, 16, 63)(18, 20, 19, 21)(23, 24. 60, 61)(25, 43, 26, 64)(28, 30, 20, 31)(34, 36, 35, 37) (44, 46, 45, 47). (1, 6)(2, 11)(3, 15) (4, 18) (5, 20) (7, 22)(8, 25)(9, 28) (10, 30)(12, 32)(13, 34) (14, 36)(16, 38)(17, 39)(19, 41) (21, 42)(23, 44)(24, 46)(26, 48)(27, 49)(29, 51)(31, 52)(33, 53)(35, 55 (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22) (8, 26) (9, 29)(10 31)(11 32)(13, 35)(14, 37) (15, 38) (17, 40) (18, 41) (20, 42)(23, 45) (24, 47) (25, 48)(27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64), (1,2, 4,9, 6, 11, 18, 28)(3, 25, 13, 44, 15, 8, 34, 23) (5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 29, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59)]) = C8 : C8
Nag = Group([(1,4,6,18)(2,9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49) (12, 29, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60)(31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64). (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50) (11, 30, 32, 52)(13, 33, 35, 54) (15, 36, 38, 56) (18, 30, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64, (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7. 22) (8, 25)(9, 28) (10, 30) (12, 32) (13, 34) (14, 36) (16, 38) (17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48) (27, 49) (29, 51) (31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64, (1, 7)(2, 12) (3, 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 29) (10, 31) (11, 32) (13, 35) (14, 37) (15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61) (49, 62) (53, 63) (58, 64), (1,2, 4,9, 6, 11, 18, 28)(3, 25, 13, 44, 15,8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 29, 22,32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43)(16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59), (1, 3, 5, 14, 7, 16, 21, 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 29, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61) (18, 34, 39, 53, 41, 55, 57, 63)(28, 44, 49, 58, 51, 60, 62, 64)]) = C8 :
Nag = Group([(1. 44, 17,24, 22, 45, 57, 61)(2, 3, 27, 33, 32, 38, 62, 63)(4, 8, 20, 43, 41, 48, 21, 64) (5, 58, 19, 26, 42, 50, 18, 25)(6, 23, 39, 46, 7, 60, 40, 47)(9, 13, 30, 36, 51, 55, 31, 37) (10, 14, 29, 35, 52, 56, 28, 34) (11, 15, 49, 53, 12, 16, 50, 54), (1, 17, 22, 57)(2, 27, 32, 62)(3, 33, 38, 63) (4, 20, 41, 21)(5, 19, 42, 18) (6, 39, 7, 40)(8, 43, 48, 64)(9, 30. 51,31)(10, 29, 52, 28) (11, 49, 12, 50) (13, 36. 55, 37)(14, 35, 56, 34) (15, 53, 16, 54) (23, 46, 60, 47)(24, 45. 61, 44)(25, 58, 26, 59), (1, 6)(2, 11)(3, 15)(4, 18)(5. 20)(7. 22)(8, 25)(9, 28) (10, 30)(12, 32)(13, 34) (14, 36) (16, 38)(17, 39) (19, 41) (21, 42) (23, 44) (24, 46) (26, 48)(27, 49)(29, 51) (31, 52)(33, 53) (35, 55) (37, 56) (40, 57)(43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22)(8. 26)(9. 20)(10, 31)(11, 32) (13, 35) (14, 37)(15, 38) (17, 40) (18, 41)(20, 42)(23, 45) (24, 47)(25, 48)(27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56)(39, 57)(43, 59) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64), (1,2, 4,9, 6, 11, 18, 28)(3, 25, 13, 44, 15,8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49) (7. 12 19,29, 22,32, 41, 51)(14, 46, 33, 53, 36, 24, 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59)]) = C8 : C8
Nio = Group([(1,2,4,9, 6, 11, 18, 28)(3, 25, 13,44, 15.8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 29, 22. 32, 41, 51)(14, 46, 33, 58, 36, 24, 53, 43)(16, 48, 35, 60, 38, 26, 55, 45)(21, 31, 40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59), (1.4, 6, 18)(2,9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49) (12, 20. 32. 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57)(24. 43, 46, 58)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54. 56, 63)(47, 59, 61,64). (15,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27,29, 50)(11, 30, 32, 52)(13, 33, 35, 54) (15, 36, 38, 56)(18, 30, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32) (13, 34) (14, 36)(16, 38) (17, 39) (19, 41)(21, 42)(23, 44) (24, 46) (26, 48)(27, 49)(29, 51)(31, 52) (33, 53)(35, 55) (37, 56)(40, 57)(43, 58) (45, 60) (47, 61) (50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16)(4, 19)(5, 21)(6, 22) (8, 26)(9, 20)(10, 31) (11, 32)(13, 35)(14, 37) (15, 38) (17, 40)(18, 41)(20, 42) (23, 45) (24, 47)(25, 48) (27, 50) (28, 51)(30, 52)(33, 54) (34, 55) (36, 56) (39, 57) (43, 59) (44, 60) (46, 61)(49, 62) (53, 63)(58, 64), (1,3, 5, 14, 7, 16,21, 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 29, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61) (18, 34, 39, 53, 41, 55, 57, 63)(28, 44, 49, 58, 51, 60, 62, 64)]) = C
Nar = Group([(1, 25,39, 43,22, 26, 40, 64)(2, 34, 49, 36, 32, 35, 50, 37)(3, 10, 53, 51, 38, 52, 54, 9)(4, 44, 5. 46, 41,45, 42, 47)(6, 8, 17, 58, 7. 48, 57, 50)(11, 13, 27, 14, 12, 55, 62, 56)(15, 30, 33, 20. 16, 31 63, 28) (18,23, 20, 24. 19, 60, 21, 61), (1, 4. 6, 18) (2, 9 11,28)(3, 13, 15,34)(5, 17, 20, 39)(7, 19, 22, 41)(8, 23, 25, 44)(10, 27, 30, 49)(12, 20, 32. 51) (14, 33, 36, 53) (16, 35, 38, 55)(21, 40, 42, 57)(24. 43, 46, 53) (26, 45, 48, 60) (31, 50, 52, 62)(37, 54, 56, 63) (47, 59. 61, 64 (1. 5.7, 21)(2, 10,12, 31)(3, 14, 16, 37)(4, 17, 19, 40)(6, 20, 22, 42) (8, 24, 26, 47)(9. 27, 29, 50) (11, 30, 32, 52)(13, 33, 35. 54)(15. 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 50) (25, 46, 48, 61)(28, 49, 51. 62) (34 53, 55, 63)(44, 58, 60. 64), (1. 6)(2, 11)(3, 15)(4. 18)(5, 20)(7, 22)(8. 25)(9, 28)(10, 30)(12, 32) (13, 34)(14, 36)(16, 38)(17, 30) (19, 41)(21, 42) (23, 44) (24, 46) (26, 43)(27, 49)(20. 51)(31. 52)(33. 53)(35. 55)(37. 56)(40. 57)(43. 58)(45. 60) (47, 61) (50, 62) (54, 63)(59, 64), (1. 7)(2, 12)(3, 16)(4. 19)(5, 21)(6. 22)(8.26)(9, 20)(10, 31)(11,32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42) (23, 45)(24. 47)(25. 43)(27. 50)(28. 51)(30. 52)(33. 54)(34. 55)(36. 56)(39, 57) (43, 59) (44. 60) (46, 61) (49, 62)(53, 63)(58, 64), (1, 2.4, 9,6, 11, 18, 28)(3, 25, 13, 44, 15. 8, 34, 23)(5, 10, 17,27, 20, 30, 30, 49)(7, 12, 19, 20, 22, 32, 41, 51) (14, 46, 33, 58, 36, 24. 53, 43) (16, 48, 35. 60, 38, 26, 55. 45)(21. 31, 40, 50, 42, 52, 57, 62) (37, 61, 54. 64, 56, 47, 63, 50)]) = C
Ny = Group([(1,3,5, 14,7, 16,21, 37)(2, 8, 10, 24, 12, 26, 31, 47)(4, 13, 17, 33, 19, 35, 40, 54) (6, 15, 20, 36, 22, 38, 42, 56)(9, 23, 27, 43, 29, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 39, 53, 41, 55, 57, 63) (28, 44, 49, 58, 51, 60, 62, 64), (1,4, 6, 18)(2,9, 11, 28)(3, 13, 15, 34) (5, 17, 20, 39)(7, 19, 22, 41) (8, 23, 25, 44)(10, 27, 30, 49)(12, 20, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 58) (26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63) (47, 59, 61 64) (1,5,7,21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40)(6, 20, 22, 42)(8, 24, 26, 47)(9, 27, 29, 50) (11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57) (23, 43, 45, 59) (25, 46, 48, 61)(28, 49, 51, 62) (34, 53, 55, 63) (44, 58, 60, 64), (1, 6)(2, 11)(3, 15)(4, 18)(5, 20) (7, 22) (8, 25)(9, 28) (10, 30) (12, 32)(13, 34) (14, 36) (16, 38)(17, 39) (19, 41) (21, 42)(23, 44) (24, 46) (26, 48) (27, 49)(29, 51)(31, 52) (33, 53) (35, 55) (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59 ,64),(1,7)(2 12)(3, 16)(4, 19)(5, 21) (6, 22)(8, 26) (9, 29) (10, 31) (11, 32)(13, 35) (14, 37) (15, 38) (17, 40) (18, 41) (20, 42) (23, 45) (24, 47) (25, 48) (27, 50) (28, 51) (30, 52) (33, 54) (34. 55) (36, 561 (39, 57 (43, 59 (44, 60 (46, 61) (49, 62) (53, 63) (58, 64). (1.2, 4.9, 6, 11, 18, 28)(3, 25, 13, 44, 15,8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 29, 22, 32, 41, 51)(14, 46, 33, 53, 36, 24, 53, 43)(16, 48, 35. 60, 38, 26. 55 45)(21 31,40, 50, 42, 52, 57, 62) (37, 61, 54, 64, 56, 47, 63, 59)]) = C
Nas = Group([(1,2,4.9,6, 11, 18,28)(3, 25, 13, 44, 15.8, 34, 23)(5, 10, 17, 27, 20, 30, 39, 49)(7, 12, 19, 20, 22, 32, 41, 51)(14, 46, 33, 58, 36, 24. 53, 43) (16, 48, 35, 60, 38, 26, 55, 45) (21, 31, 40, 50, 42, 52. 57, 62) (37, 61, 54, 64, 56,47, 63, 59), (1, 3. 5, 14,7, 16,21, 37)(2, 8, 10, 24, 12, 26, 31, 47) (4, 13, 17, 33, 19, 35, 40, 54)(6, 15, 20, 36, 22, 38, 42, 56) (9, 23, 27, 43, 20, 45, 50, 59) (11, 25, 30, 46, 32, 48, 52, 61)(18, 34, 39, 53, 41, 55, 57, 63)(28, 44, 49, 58, 51, 60, 62, 64), (1,4, 6, 18)(2, 9, 11, 28)(3, 13, 15, 34)(5, 17, 20, 30) (7, 19, 22, 41)(8, 23, 25, 44) (10, 27, 30, 49)(12, 29, 32, 51)(14, 33, 36, 53) (16, 35, 38, 55) (21, 40, 42, 57) (24, 43, 46, 53)(26, 45, 48, 60) (31, 50, 52, 62) (37, 54, 56, 63)(47, 59, 61, 64), (1, 5,7, 21)(2, 10, 12, 31)(3, 14, 16, 37) (4, 17, 19, 40) (6, 20, 22, 42)(8, 24, 26, 47)(9, 27,29, 50) (11, 30, 32, 52) (13, 33, 35, 54) (15, 36, 38, 56) (18, 39, 41, 57)(23, 43, 45, 59) (25, 46, 48, 61) (28, 49, 51, 62)(34, 53, 55, 63) (44, 58, 60, 64), (1, 6)(2, 11)(3, 15) (4, 18)(5, 20)(7, 22)(8, 25)(9, 28)(10, 30)(12, 32)(13, 34) (14, 36)(16, 38)(17, 39)(19, 41)(21, 42)(23, 44)(24, 46) (26, 48)(27, 49)(29, 51)(31, 52) (33, 53)(35, 55 (37, 56) (40, 57) (43, 58) (45, 60) (47, 61)(50, 62) (54, 63) (59, 64), (1, 7)(2, 12)(3, 16) (4, 19)(5, 21)(6, 22) (8, 26)(9, 29)(10, 31)(11, 32)(13, 35)(14, 37)(15, 38)(17, 40)(18, 41)(20, 42) (23, 45) (24, 47) (25, 48)(27, 50) (28, 51)(30, 52) (33, 54) (34, 55) (36, 56) (39, 57) (43, 50) (44, 60) (46, 61)(49, 62) (53, 63) (58, 64)]) =

= = e



